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Ethics - 18 Questions - 27 minutes



Question: 1 - 29588 

Benito Salvatore, CFA, is licensed in the established country of Oldworld but has clients and makes investments in the emerging county of Newworld. The regulations of Oldworld prohibit licensed investment professionals from taking gifts or gratuities in any amount from vendors or persons connected with potential investments. The laws of Newworld are silent on this issue. Unsolicited, Salvatore is offered a vase worth US $75 by a Newworld trust company and a bronze statue worth US $200 by a Newworld company that Salvatore is considering as a potential investment.

Salvatore is: 
	A)
	not permitted to accept either gift.

	B)
	permitted to accept the vase but not the statue.

	C)
	permitted to accept the statue but not the vase.

	D)
	permitted to accept both gifts.




Question: 2 - 29589 

Georgia Jones, CFA, is an analyst for Johnson, Thomas & Co. She also serves as an outside director for Dewey Manufacturing, Inc. In the course of her duties, she begins to believe that Dewey’s income statement for the most recent period may have been misstated. Georgia should do all of the following EXCEPT: 
	A)
	consult with Dewey Manufacturing's legal counsel.

	B)
	consult with Johnson, Thomas' legal counsel.

	C)
	refrain from voting to approve any of Dewey's financial statements that include the element in question.

	D)
	inform the Securities and Exchange Commission.




Question: 3 - 29590 

Bill Owens obtained his CFA charter in 1999, and began using the following letterhead:
	William J. Owens,* CFA**

	222 Main Street Bank Building

	Anywhere,  USA

	 

	            *member, Association for Investment Management and Research

	          **received CFA charter September 1999


In 2001, Owens did not renew his membership in AIMR.  Accordingly, he must modify his letterhead by doing all of the following EXCEPT:
	A)
	deleting the "CFA" following his name.

	B)
	deleting the reference to when he received his CFA charter.

	C)
	deleting the reference to AIMR membership.

	D)
	none; all references to "AIMR" and "CFA" must be deleted.




Question: 4 - 29591 

Reginald Brown, CFA, has been convicted three times in a year of misdemeanor driving while intoxicated. Brown’s membership in AIMR: 

	A)
	because his actions reflect poorly on his professional may be terminated competence.

	B)
	may be terminated if he is convicted of a felony but not for misdemeanor convictions.

	C)
	may be terminated if the misdemeanor convictions had involved dishonesty, but not for antisocial behavior.

	D)
	may be terminated for professional violations but not for personal ones.




Question: 5 - 29592 

Isabella Travelli, CFA, is a research analyst for Worldwide Investments in Rome, Italy. Travelli was contacted by Seaside Partners of Milan, Italy, a regional brokerage firm, about doing research on companies in the beverage industry on a contract basis.

Travelli may only do the contract work: 

	A)
	if Worldwide has no clients in the same geographic area as Seaside.

	B)
	if Worldwide does not follow the beverage industry.

	C)
	after receiving written consent from both Worldwide and Seaside.

	D)
	if Worldwide does not follow the beverage industry.




Question: 6 - 29593 

James Cox, CFA, is employed in a London investment banking firm. Firm policy states that employees must pay for their own meals and entertainment if they are invited to dine or go out socially with vendors or prospective vendors of the company. Thomas Wheelwright, a representative of a major securities information service, invites Fox out for Saturday dinner and to go to the theater. Wheelwright insists on paying for the evening.

If Cox attends the events and allows Wheelwright to pay for the dinner and show Cox has violated: 
	A)
	company policy but not the Code and Standards.

	B)
	company policy but not the Code and Standards as long as the firm receives full disclosure of Cox's potential conflict of interest.

	C)
	both company policy and the Code and Standards.

	D)
	neither company policy nor the Code and Standards because the social engagement was not directly related to company business.




Question: 7 - 29594 

Sandra Fellows, CFA, received a telephone call from one of her clients at Boston Financial offering her the free use of their vacation home on Cape Cod the following summer. The client stated that the offer was not dependent upon any level of performance, but was given in appreciation for their many years of working together.

To be in compliance with the Code and Standards, Fellows: 
	A)
	may accept the offer if her supervisor is informed and gives consent.

	B)
	may accept the offer because the benefit is not contingent upon performance.

	C)
	may accept the offer but must inform Boston Financial in writing that the offer was made.

	D)
	must decline the offer.




Question: 8 - 29595 

Joey Balder, CFA, was approached by the management of Flagship Investment Managers about becoming Flagship’s Southtown branch supervisor. Balder is reluctant to accept the position because certain compliance procedures have not been adopted in that branch.

Balder should: 
	A)
	discuss his concerns with management and tell them he will not accept the position unless and until he is given authority to resolve them. 

	B)
	accept the position on condition that the procedures are adopted immediately.

	C)
	decline in writing to accept the supervisory position until the firm adopts appropriate procedures.

	D)
	accept the position and use his best efforts to get the procedures implemented as soon as possible.




Question: 9 - 29596 

Susan Tateoka, CFA, prepared a research report on National Airlines. In preparing her report, Tateoka relied heavily on a statistical ranking service that placed National in the top 10 percent of companies expected to outperform the market in the coming 12 months. Tateoka released the report and then proceeded to add this position to all of her portfolios, including the portfolio of Jim and June Rose, who already owned 6 airline stocks and were severely overweighted in that industry, without specially justifying this position.

Tateoka has: 
	A)
	violated the Code and Standards by relying heavily on a statistical ranking service and also by adding a position to a portfolio without taking into account the context of the entire portfolio.

	B)
	violated the Code and Standards by adding a position to a portfolio without taking into account the context of the entire portfolio.

	C)
	violated the Code and Standards by relying heavily on a statistical ranking service.

	D)
	not violated the Code and Standards.




Question: 10 - 29597 

Joshua Rosenberg, CFA, covers Northwest Implements, a farm implement manufacturer, whose main factory is located in a sparsely-inhabited region six hours by automobile from the nearest airport. Northwest has its own corporate jet and a landing strip is located near the facility. When Rosenberg contacts Northwest’s management to gather information for a report he is preparing on the company, Northwest’s chief financial officer, Thomas Blake, invites Rosenberg to visit Northwest’s headquarters and meet with management. Blake offers to send Northwest’s corporate jet to pick Rosenberg up from an airport near Rosenberg’s home and to return him home the same evening. Rosenberg estimates that it would require three days for him to make the visit using commercial travel.

If Rosenberg accepts Blake’s offer and makes the trip to Northwest’s headquarters on the corporate jet, Rosenberg: 
	A)
	has not violated the Code and Standards if his trip was entirely devoted to business even if Northwest pays all of the expenses of the trip.

	B)
	has not violated the Code and Standards if Rosenberg discloses the trip and the payment of his travel expenses in Rosenberg's report. 

	C)
	has not violated the Code and Standards as long as he reimburses Northwest for the cost of the trip. 

	D)
	has violated the Code and Standards if he proceeds to write the report.




Question: 11 - 29598 

Alan Cramer, CFA, practices in a country that does not regulate the investment of company retirement plans. He was retained by Bingham Companies to manage their corporate pension plan. Bingham’s management has approached Cramer and requested that Cramer invest the entire plan in Bingham stock.

Cramer may: 

	A)
	invest a portion of the retirement plan in Bingham Company stock if the investment is prudent and if he keeps the overall portfolio properly diversified.

	B)
	invest all of the retirement plan assets in Bingham Company stock according to management's request only if Cramer can document that the investment is more prudent than any other investment opportunity he finds.

	C)
	immediately terminate his relationship with the plan because of the conflict of interest raised by the management contact.

	D)
	not invest any of Bingham Company's retirement plan in its own stock regardless of the stock's prospects and in spite of management's request.




Question: 12 - 29599 

Charmaine Townsend, CFA, has been managing a growth portfolio for her clients using a screening process that identifies companies that have high growth rates. Townsend has decided that, because of a volatile economy, she is going to adopt a value strategy using a screening process that identifies companies that have low price-earnings multiples.

Townsend will violate the Code and Standards if she makes this change in her investment process without: 
	A)
	notifying her clients before she makes the change.

	B)
	promptly notifying her clients after she makes the change.

	C)
	getting written permission from her clients in advance of the change.

	D)
	getting prompt written acknowledgment of the change from her clients within a reasonable time after the change was made.




Question: 13 - 29600 

Samuel Goldstein, CFA, is an analyst for Tamarack Securities. Goldstein’s father, Reuben, has a client account at Tamarack. In ordering trades, Goldstein should place orders in: 

	A)
	his clients' accounts first, his father's account second, and his account last.

	B)
	his clients' and his father's accounts in the first group and his personal accounts in the second group.

	C)
	his clients' accounts in the first group and his father's and his own personal account in the second group.

	D)
	all accounts simultaneously.




Question: 14 - 29601 

Kevin Blank, CFA, is a representative for Campbell Advisors. In a meeting with a prospective client, the client inquired about investing in bonds denominated in Mexican Pesos. Bland assured the client that Campbell employed an expert in Mexican fixed income investing. In fact, Blank had heard a rumor that his colleague, Jon Woller, might have had experience in fixed income investing. The following day Blank learned that Woller had, in fact, no such experience. Blank did not correct his earlier statement and the prospective client invested with Campbell.

Blank has: 
	A)
	violated the Code and Standards both when he represented the qualifications of his colleague and later, when he learned the truth, and failed to contact the prospective client and correct his earlier statement.

	B)
	only violated the Code and Standards when he learned that his statement was incorrect and did not contact the prospect to explain his error.

	C)
	not violated the Code and Standards because Blank did not intentionally mislead the prospect. 

	D)
	not violated the Code and Standards because Blank's statements were verbal and not in writing. 




Question: 15 - 29602 

Lisa Pierce, CFA, has been researching Lander Manufacturing, Inc. for the past three weeks. She likes the company’s history of fulfilling its contracts on time and within budget. She learns from the uncle of a maintenance worker at Lander’s headquarters that a group of well-dressed individuals arrived at headquarters in a lime green-colored limousine and then spent the day at the headquarters. Pierce knows from publicly-available information that Gilbert Controls, Inc. needs a large supply of specialized motors in its domestic division. She also knows that the executive officers of Gilbert usually travel in a lime green limousine. Pierce concludes that it is very likely that Gilbert will offer a large contract to Lander. Based on this development and her prior research Pierce would like to acquire Lander Manufacturing, Inc. shares for her client accounts.

Pierce should: 

	A)
	not acquire the shares until after she has contacted Lander's management and encouraged them to publicly announce information about the Gilbert Controls contract.

	B)
	not acquire the shares until after she has contacted Lander's management and encouraged them to publicly announce information about the Gilbert Controls contract. She should also wait until Lander has made the announcement and the public has had time to react to it and then make the acquisition.

	C)
	proceed to acquire the shares.

	D)
	not acquire the shares because she possesses material nonpublic information.




Question: 16 - 29603 

Natalia Gregory, CFA, represents Value Advisors. She was approached by her personal physician, whose assistant had been given a paper that described a tender offer that Gallant was preparing to make for Calypso Company. Gregory’s physician would like Gregory to purchase shares of Calypso in his personal account.

Gregory should: 
	A)
	not acquire the shares until she has contacted Gallant's management and encouraged them to publicly announce the merger discussions.

	B)
	not acquire the shares.

	C)
	not acquire the shares until she has contacted Gallant's management and encouraged them to publicly announce the merger discussions. She should also wait until they have made the announcement and the public has had an opportunity to react to it.

	D)
	proceed to acquire the shares because the information was neither misappropriated nor obtained in breach of a duty.




Question: 17 - 29604 

Donald White, CFA, a representative with Boulder Investments, has prepared composites for the fixed income and growth portfolios Boulder has managed for the last 10 years and for a balanced portfolio that did not exist in reality but that combines actual portfolio results from the growth and fixed income portfolios.

In meeting with prospects, White may present the growth and fixed income composites: 
	A)
	and the balanced composite if it is fully disclosed that the balanced composite is a hybrid of actual results.

	B)
	and the balanced composite if it is fully disclosed that the balanced composite is only an estimate of what actual results might have been.

	C)
	and the balanced composite.

	D)
	but not the balanced composite.




Question: 18 - 29605 

Elipse Investment Managers appended the following statement at the end of its performance report for the year ended December 31, 2001:

“Elipse Investment Managers have prepared and presented this report in compliance with the Performance Presentation Standards of the Association for Investment Management and Research, except for the presentation of its balanced portfolio composites, which do not include the first two years of their performance in 1994 and 1995. AIMR has not been involved with the preparation or review of this report.”

Elipse’s statement is: 
	A)
	in compliance with AIMR-PPS standards.

	B)
	not in compliance because members are not allowed to publish a claim that they follow AIMR-PPS standards.

	C)
	in compliance except that the statement must appear at the beginning of the performance report and not at the end.

	D)
	not in compliance with AIMR-PPS standards because "except for" language is not permitted.




Quantitative Analysis - 18 Questions - 27 minutes



Question: 19 - 29074 

Consider the following graph of a distribution for the prices for various bottles of California-produced wine.

[image: image1.jpg]B




Which of the following statements is FALSE? 

	A)
	The distribution is positively skewed.

	B)
	Approximately 68% of observations fall within one standard deviation of the mean.

	C)
	Point A represents the mode.

	D)
	The graph could be of the sample $16, $12, $15, $12, $17, $30 (ignore graph scale).




Question: 20 - 29077 

Nikki Ali and Donald Ankard borrowed $15,000 to help finance their wedding and reception. The annual payment loan carries a term of seven years and an 11 percent interest rate. The amount of the first payment that is interest and the amount of the second payment that is principal are approximately: 

	A)
	$1,650 and $1,468, respectively.

	B)
	$1,650 and $1,702, respectively.

	C)
	$1,468 and $1,533, respectively.

	D)
	$1,468 and $1,650, respectively.




Question: 21 - 29081 

Assume a sample of beer prices is negatively skewed. Approximately what percentage of the distribution lies within plus or minus 2.40 standard deviations of the mean? 
	A)
	82.6%.

	B)
	58.3%.

	C)
	17.36%.

	D)
	95.5%.




Question: 22 - 29082 

Mei Tekei just had a birthday and is 22. When she is 27, she will receive a $100,000 inheritance. Tekei needs funds for the down payment on a co-op in Manhattan and has found a bank that will give her the present value of her inheritance amount (assuming 8.0 percent interest compounded continuously). Will the proceeds from the bank be sufficient to cover her total cost closing costs of $65,000? 

	A)
	Yes, Tekei will receive $68,058.

	B)
	No, Tekei will only receive $49,182.

	C)
	Yes, Tekei will receive $67,032.

	D)
	No, Tekei will only receive $61,878.




Question: 23 - 29091 

After successfully completing the CFA program, Jennie Fargotti has no fear and now wants to attend the “running of the bulls” in Spain. She projects that she can save $1,000 at the end of the quarter for each of the next two years and has estimated the cost of the trip at a U.S. dollar equivalent of $8,500. To afford the trip, Fargotti needs to earn an annual rate of approximately: 

	A)
	1.72%.

	B)
	1.34%.

	C)
	6.90%.

	D)
	5.38%.




Question: 24 - 29094 

Following is the population of temperatures (in degrees Celsius) observed during a ten-day period of January taken in San Francisco at the Ferry Building.  
	Day/oC
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	High
	9
	11
	13
	14
	13
	13
	11
	14
	15
	17

	Low
	3
	6
	6
	7
	10
	10
	9
	6
	8
	4


· The population of high temperatures is normally distributed with a mode of 13oC and a coefficient of variation (CV) of 0.165. 

· The population of low temperatures is positively skewed with a mean of 6.9oC and a CV of 0.328. 

· A sample of high temperatures taken on odd days (5 data points) has a mean of 12.2oC and a variance of 5.20. 

· A sample of low temperatures taken on odd days (5 data points) has a mean of 7.2oC. 

Which of the following statements is FALSE?
	A)
	For the low temperatures, the mode is less than 6.9oC. 

	B)
	For the low temperatures, the population standard deviation is less than the sample standard deviation.

	C)
	The population of high temperatures is less dispersed than in the population of low temperatures. 

	D)
	For the high temperatures, the population variance is greater than the sample variance.




Question: 25 - 29096 

Michael Philizaire is studying for the Level 1 CFA examination. During his review of measures of central tendency, he decides to calculate the geometric average of the appreciation/deprecation of his home over the last five years. Using comparable sales and market data he obtains from a local real estate appraiser, Philizaire calculates the year-to-year percentage change in the value of his home as follows: 20, 15, 0, -5, -5. The geometric return is closest to: 
	A)
	11.60%.

	B)
	5.00%.

	C)
	0.00%.

	D)
	4.49%.




Question: 26 - 29101 

Adolphus Sisti, CFA, is an equity analyst with an investment banking firm. Sisti’s area of expertise is Initial Public Offerings (IPOs). He wants to determine whether he can improve his chances of investing in firms that will be successful. In the particular industry that he tracks, it appears that acceptance by a venture capital firm greatly improves the odds of success. Currently, he is following 50 start-ups who have either been accepted or rejected by venture capital firms. A research analyst in the firm provides the following information:
· The probability that a start-up company in the sample will fail is 80%. 
· 25% of firms accepted by venture capital firms will fail after they receive financing. 
· 75% of firms accepted by venture capital firms will succeed after they receive financing. 
Assuming that Sisti randomly selects a start-up company from the sample, which of the following statements is TRUE?
	A)
	If Sisti randomly selects a start-up that has been accepted by a venture capital firm, the probability that the firm will fail is approximately 0.46.

	B)
	The probability that a start-up will fail plus the probability that the start-up will succeed is less than 1.

	C)
	Sisti's chance of randomly selecting a start-up that a venture capital firm has accepted is 0.55.

	D)
	The information that the stock he randomly selects has been accepted by a venture capital firm does not improve his chances of investing in start-ups likely to succeed. 




Question: 27 - 29105 

Which of the following statements about the defining properties of probability is TRUE? 

	A)
	The probability of any event is between 0 and 1, exclusive.

	B)
	The sum of the probabilities of events E1 though Ex equals one if the events are mutually exclusive or exhaustive.

	C)
	Mutually exclusive means that events share outcomes.

	D)
	If the device that generates an event is not fair, the events can be mutually exclusive and exhaustive.




Question: 28 - 29110 

An investor forms a portfolio by investing $3,000 in the stock of Lovebirds Company and $7,000 in the stock of Lories, Inc. His investment advisor calculates the following joint probabilities of the returns of the two stocks.
	Joint Probabilities

	RLories = 0.12
	RLories = 0.08

	RLovebirds = 0.20
	0.35
	0

	RLovebirds = 0.05
	0
	0.65


The approximate portfolio expected return and variance are, respectively:
	A)
	10.25%, 0.00122.

	B)
	9.65%, 0.002364.

	C)
	9.65%, 0.00122.

	D)
	12.00%, 0.002364.




Question: 29 - 29111 

Which of the following statements about counting methods is FALSE? The: 

	A)
	multiplication rule of counting is used when there are two or more groups and only one item is chosen from each group.

	B)
	factorial method is used when arranging a given set of n items and there are no groups.

	C)
	combination formula applies to only two groups of predetermined size and applies to statements containing the words "to order."

	D)
	labeling formula applies to three or more sub-groups of predetermined size, and each element of the entire group must be assigned a place or label in one of the three or more sub-groups.




Question: 30 - 29115 

The average annual rainfall amount in Yucutat, Alaska, is normally distributed with a mean of 150 inches and a standard deviation of 20 inches. The 50% confidence interval for the annual rainfall in Yucutat is closest to: 

	A)
	137 to 163 inches.

	B)
	140 to 160 inches.

	C)
	130 to 170 inches.

	D)
	135 to 165 inches.




Question: 31 - 21132 

Suppose the mean debt/equity ratio of the population of all banks in the United States is 20 and the population variance is 25. A banking industry analyst uses a computer program to select a random sample of 50 banks from this population and compute the sample mean. The program repeats this exercise 1000 times and computes the sample mean each time. According to the central limit theorem the sampling distribution of the 1000 sample means will have a standard deviation (the standard error of the sample mean) equal to:
	A)
	25.000.

	B)
	0.707.

	C)
	0.158.

	D)
	0.500.




Question: 32 - 29192 

Sunil Hameed is a reporter with the weekly periodical The Fun Finance Times. Today, he is scheduled to interview a researcher who claims to have developed a successful technical trading strategy based on trading on the CEO’s birthday (sample was taken from the Fortune 500). After the interview, Hameed summarizes his notes (partial transcript as follows). The researcher:

· was defensive about the lack of economic theory consistent with his results. 

· used the same database of data for all his tests and has not tested the trading rule on out-of-sample data. 
· excluded stocks for which he could not determine the CEO’s birthday. 
· used a sample cut-off date of the month before the latest market correction. 
Select the choice that best completes the following: Hameed concludes that the research is flawed because the data and process are biased by: 
	A)
	data mining, time-period bias, and look-ahead bias.

	B)
	time-period bias and survivorship bias.

	C)
	data mining, sample selection bias, and time-period bias.

	D)
	sample selection bias and time-period bias.




Question: 33 - 29195 

Which of the following statements about sampling and estimation is TRUE? 

	A)
	The standard deviation of the distribution of the sample means is the standard error of the residual. 

	B)
	The standard error of the sample means when the standard deviation of the population is known equals σ / √n, where σ = sample standard deviation adjusted by n-1.

	C)
	The standard error of the sample means when the standard deviation of the population is unknown equals s / √n, where s = sample standard deviation. 

	D)
	The probability that a parameter lies within a range of estimated values is given by α. 




Question: 34 - 29201 

Mitchell Oldenbotum is a statistician with the National Transportation Safety Board. For the last few months, his team has been trying to determine with 99 percent confidence if increased patrolling and speeding ticket issuance have decreased the average speed during commute hours on a dangerous stretch of Highway 44 in Northern California. Prior to the increased enforcement, the mean speed on the highway was 67.5 miles per hour (mph). Extensive sampling (n = 121 days) resulted in a mean speed of 63.8 mph and a sample standard deviation of 1.5 mph. Which of the following statements is TRUE? 

	A)
	The test statistic is t = (3.7 - 0) / 1.5.

	B)
	Ho is: μd ≠ 0, meaning that there is a difference in average speed before and after the increased monitoring.

	C)
	Oldenbotum should fail to reject Ha.

	D)
	Oldenbotum should reject Ho and conclude that the average speed decreased. 




Question: 35 - 29205 

Which of the following statements about regression analysis is FALSE? 

	A)
	The standard error of the estimate (SEE) will be low if the relationship is weak.

	B)
	Regression relations change over time.

	C)
	R2 = 1 - (SSE/SST).

	D)
	The correlation coefficient, ρ, of two assets x and y = (covariancex,y ) / (standard deviationx * standard deviationy ).




Question: 36 - 29210 

Nicki Oronos wants to take a certain graduate school admissions examination for which 1200 is a passing score. While using the Internet to research the average number of hours that candidates study, she finds the following unpublished regression-based study:

· Sample size of 40 

· Significance level of 5% 

· Mean score of 1400 

· Correlation Coefficient (ρ) of 0.8062 

· Intercept of 200 hours 

· Beta of 2.5 

· Variance of the forecast of 32,806 (based on 450 hours studied) 

If the number of hours studied equals 450, the prediction interval’s:

	A)
	upper limit is a score of approximately 1690.

	B)
	upper limit is a score of approximately 1510.

	C)
	lower limit is a score of approximately 1020.

	D)
	lower limit is a score of approximately 690.




Economics - 14 Questions - 21 minutes



Question: 37 - 12307 

Which of the following best describes potential reasons for the actual deposit multiplier generally being less than the potential deposit multiplier? 

	A)
	Currency leakages and idle excess bank reserves.

	B)
	Currency leakages and low interest rates.

	C)
	Idle excess bank reserves and low interest rates.

	D)
	An inflationary environment and high interest rates.




Question: 38 - 29049 

Silvia Eschaves and Alistair Bucan are studying for the level one CFA examination. While discussing the policy implications of the Phillips Curve, Bucan makes the following statements. Which of the following does Eschaves point out as INCORRECT? 

	A)
	According to the rational expectations view, an anticipated restrictive policy will have no effect on unemployment and real output in the short run.

	B)
	According to the adaptive expectations view, an anticipated expansionary policy will decrease unemployment and increase real output in the short run. 

	C)
	The adaptive expectations view explains stagflation.

	D)
	Both rational and adaptive expectations suggest that in the long run, policies designed to stimulate demand will cause inflation and will not permanently reduce the unemployment rate below the natural rate.




Question: 39 - 29281 

The total market value of output produced by the nationals of a country, regardless of where they live, is called: 

	A)
	Gross Domestic Product (GDP).

	B)
	Gross National Product (GNP).

	C)
	Total Production.

	D)
	Gross Investment.




Question: 40 - 29282 

An unexpected increase in consumer spending (i.e. aggregate demand) will cause aggregate demand (AD) to shift to the: 

	A)
	left, putting downward pressure on wages and prices and a short-run increase in unemployment.

	B)
	right, putting upward pressure on wages and prices and a short-run decrease in unemployment.

	C)
	right, putting downward pressure on wages and prices and a short-run decrease in unemployment.

	D)
	left, putting upward pressure on wages and prices and a short-run increase in unemployment.




Question: 41 - 29293 

All of the following could cause shifts in the long run aggregate supply curve EXCEPT: 

	A)
	temporary shocks such as reduced oil prices or war.

	B)
	improvements in technology.

	C)
	improvements in productivity.

	D)
	an increase in the supply of resources.




Question: 42 - 29303 

All of the following are self-correcting mechanisms that help stabilize a market economy EXCEPT: 

	A)
	monetary and/or fiscal policy.

	B)
	consumption demand.

	C)
	real interest rates.

	D)
	resource prices.




Question: 43 - 29309 

If there is unanticipated inflation in the economy, generally speaking: 

	A)
	borrowers win and lenders lose.

	B)
	lenders win and borrowers lose.

	C)
	both borrowers and lenders benefit.

	D)
	unanticipated inflation will not affect borrowers or lenders.




Question: 44 - 29312 

All of the following are monetary policy tools of the Federal Reserve EXCEPT: 

	A)
	required reserve ratio.

	B)
	discount rate.

	C)
	printing money.

	D)
	open market operations.




Question: 45 - 29321 

Advocates of rational expectations feel that: 

	A)
	policy changes affect output, employment and price in both the long and short-run.

	B)
	policy changes affect output and employment, but only in the short-run.

	C)
	it is impossible to estimate the impact of policy changes, thus there should be no policy changes.

	D)
	policy changes do not affect output and employment, only prices.




Question: 46 - 12613 

An oligopolistic industry does NOT have: 

	A)
	large economies of scale.

	B)
	many sellers.

	C)
	high barriers to entry.

	D)
	a great deal of interdependence among firms.




Question: 47 - 29051 

Assume that Richard Rojas, journalist, can purchase some combination of good A and good B. The income elasticity for both goods is 0.6, and Rojas has been consuming 10 of each good. Which of the following statements about the income effect and the substitution effect with regard to Rojas is FALSE? 

	A)
	If Rojas's boss decreases his salary, Rojas's budget constraint line will shift inward, and he will consume less of each good.

	B)
	If Rojas's boss gives him a salary increase, Rojas will likely purchase more of good A than of good B.

	C)
	If the price of good A increases relative to good B, Rojas will purchase more of good B due to the substitution effect.

	D)
	If the price of good A decreases relative to good B, Rojas's budget constraint line will rotate.




Question: 48 - 29325 

There is an inverse relationship between the price of a good and the amount buyers are willing to pay for it. This is called: 

	A)
	law of supply.

	B)
	Phillips curve.

	C)
	law of demand.

	D)
	Friedman's law.




Question: 49 - 29330 

The practice of charging different consumers different prices for the same product or service is called: 

	A)
	price searching.

	B)
	variable pricing.

	C)
	competitive pricing.

	D)
	price discrimination.




Question: 50 - 29070 

Simultaneously, a scientist working for a Canadian company and a scientist working for an American company invent a voice-activated calculator that is in high demand in both countries. Due to a secret manufacturing process and lower research and development costs, the Canadian company can produce the calculator at a much lower cost. In response to intense lobbying by the American company, the U.S. government limits the number of calculators that Canada can import.

The U.S. government’s action: 
	A)
	is an example of a tariff.

	B)
	benefits the U.S. government.

	C)
	benefits domestic consumers.

	D)
	is more harmful than taxing each calculator at 150% of the import price.




Financial Statement Analysis (FSA) - 30 Questions - 45 minutes



Question: 51 - 29606 

Paper Consolidated, Inc. includes a multi-step income statement in its financial statements. This means that Paper Consolidated’s income statement: 

	A)
	provides subtotals along the way from sales to net income.

	B)
	includes results from at least two previous years.

	C)
	presents the results of each subsidiary and then consolidates their results.

	D)
	is easier to analyze by company, because each division's contribution to net income is readily apparent. 




Question: 52 - 29607 

At the end of its first year of a five-year construction contract for Jones, Inc., Light Corp.’s financial information related to the Jones contract showed the following amounts
	Expected Total Revenues over the 5 years
	$1,500,000

	Expected Total Costs over the 5 years
	1,200,000

	Year 1 Costs incurred
	600,000

	Year 1 Advance billings
	300,000

	Year 1 Cash received
	200,000


If Light Corp. changes its method of accounting for the Jones contract from the completed contract method to the percentage-of-completion method, all of the following balances will be larger under percentage-of-completion EXCEPT:
	A)
	Retained Earnings.

	B)
	Net Construction-in-Progress.

	C)
	Shareholder's Equity.

	D)
	Accounts Receivable.




Question: 53 - 29608 

Value, Inc. bought a press machine for $820,000 for use in its manufacturing operation on June 30, 1998. The useful life of the press was 7 years and salvage value was estimated to be $50,000. Value, Inc. uses the straight-line method of depreciation for its depreciable assets. On June 30, 2001 value sold the press to ABC Rental Company for $400,000.

All else equal and ignoring taxes, what is the impact of Value, Inc.’s ownership and sale of the press machine on Value Inc.’s net income on its income statement for the year ended December 31, 2001? 
	A)
	-$145,000.

	B)
	-$95,000.

	C)
	-$90,000.

	D)
	-$55,000.




Question: 54 - 29609 

At its January 2, 2001 meeting, Mega Corp.’s board of directors approved the discontinuation of its entire textile business segment and voted that it be offered for sale.  It had not sold as of December 31, 2001.  Additionally, the Board voted to sell half of the machines in its footwear factory due to declining sales.  The machines were sold in October 2001.  Results of these actions were as follows (in $ millions):
	 
	Revenue
	Expenses
	Tax Expense
	Net Effect

	Textile Operation
	57
	67
	-4
	-6

	 
	 
	 
	 
	 

	Footwear Machines
	Sale Price
	Book Value
	Tax Expense
	Net Effect

	 
	23
	17
	2
	4


The net effect of this information on Mega Corp.’s income from continuing operations for the year ended December 31, 2001 was:
	A)
	+$4,000,000.

	B)
	$0.

	C)
	-$2,000,000.

	D)
	-$6,000,000.




Question: 55 - 29610 

Carver, Inc. has computed that its cash collections for 2001 were $67,000,000 and that other cash outflows and costs were $22,000,000.  Information on Carver’s inventory activities in 2001 was as follows:
	Inventory at January 1
	23,000,000

	Inventory at December 31
	21,000,000

	Inventory Purchases
	39,000,000


One-third of the inventory purchases in 2001 were obtained by increasing Carver’s credit with its suppliers.  There were no other net changes in Carver’s accounts payable.  
Using the direct method, cash provided or used by Carver, Inc.’s operating activities in 2001 was:
	A)
	$19,000,000.

	B)
	$32,000,000.

	C)
	$21,000,000.

	D)
	$17,000,000.




Question: 56 - 29611 

In October 2000, Land Removal, Inc. contracted with Solid Corp. to dredge a river bed. The dredging was anticipated to require ten months to accomplish. The contract provided for total revenue of $600,000, payable in four installments of $150,000 as costs were incurred. Land Removal’s costs for this contract were reliably $400,000. Payment is assured. As of December 31, 2000 Land Removal, Inc. had incurred costs of $80,000 but had submitted no invoices and received no payments from Solid.

The net impact of this activity on income from continuing operations for the year ended December 31, 2000 was: 
	A)
	$50,000.

	B)
	$120,000.

	C)
	$40,000.

	D)
	$0.




Question: 57 - 29612 

Racquet Company had the following transactions related to income taxes during 2001:

	Income Tax Expense
	$35,000

	Increase in Taxes Payable (1-1-01 to 12-31-01)
	$10,000

	Decrease in Deferred Income Tax (1-1-01 to 12-31-01)
	$25,000


Using the direct method, the amount of the “other cash outflows” component of cash flows from operations (CFO) in 2001 related to the above information was:
	A)
	$45,000.

	B)
	$50,000.

	C)
	$15,000.

	D)
	$35,000.




Question: 58 - 29613 

Eagle Company’s financial statements for the year ended December 31, 2001 were as follows (in $ millions):
	Income Statement

	 
	 

	Sales
	150 

	Cost of Goods Sold
	(48)

	Wages Expense
	(56)

	Interest Expense
	(12)

	Depreciation
	(22)

	Gain on Sale of Equipment
	    6 

	Income Tax Expense
	  ( 8)

	  Net Income
	  10 


	Balance Sheet

	 
	 
	 

	 
	12-31-00
	12-31-01

	Cash
	32
	52

	Accounts Receivable
	18
	22

	Inventory
	46
	44

	Property, Plant & Equip. (net)
	182
	160

	  Total Assets
	278
	278

	Accounts Payable
	28
	33

	Long-term Debt
	145
	135

	Common Stock
	70
	70

	Retained Earnings
	35
	40

	  Total Liabilities & Equity
	278
	278


Cash flow from operations (CFO) for Eagle Company for the year ended December 31, 2001 was (in $ millions).
	A)
	$41.

	B)
	$37.

	C)
	$22.

	D)
	$29.




Question: 59 - 29614 

Galaxy Corp. reported the following information for its first year of operations ending December 31, 2001 (in $ millions):

	Income Statement

	 
	 

	Sales
	270 

	Cost of Goods Sold
	(130)

	  Gross Profit
	140 

	Other Expenses
	(30)

	   Operating Profit
	110 

	Interest Expense
	(15)

	  Earnings before Taxes
	95 

	Taxes
	(35)

	  Earnings after Taxes
	  60 


 
	Balance Sheet

	 
	 
	 
	 
	 

	Cash
	50
	 
	Accounts Payable
	60

	Accounts Receivable
	50
	 
	Long – Term Debt
	200

	Inventory
	100
	 
	Common Stock
	100

	Property, Plant & Equip. (net)
	200
	 
	Retained Earnings
	40

	  Total Assets
	400
	 
	Total Liabilities & Equity
	400


Based on its first year of operations, an estimate of Galaxy’s sustainable growth rate is closest to:

	A)
	42.7 percent.

	B)
	28.6 percent.

	C)
	14.2 percent.

	D)
	18.4 percent.




Question: 60 - 29615 

Matrix, Inc.’s common size income statement for the years ended December 31, 2000 and 2001 included the following information (in percent form based on net sales being 100 percent):
	 
	2000
	2001

	Sales
	100 
	100 

	Cost of Goods Sold
	(55)
	(60)

	  Gross Profit
	  45 
	40 

	Selling General & Administrative
	(5)
	(5)

	Depreciation
	   (7)
	(8)

	  Operating Profit (EBIT)
	33 
	  37 

	Interest Expense
	(15)
	(7)

	  Earnings before Taxes
	18 
	30 

	Income Tax Expense
	(7)
	(13)

	  Earnings after Taxes
	11 
	17 


Analysis of this data indicates that from 2000 to 2001:
	A)
	cost per unit of inventory has increased.

	B)
	sales volume is steady.

	C)
	interest expense per dollar of sales has declined.

	D)
	tax rates have increased.




Question: 61 - 29616 

Savannah Corp.’s financial accounts for the year ended December 31, 2001 included the following information: 

· Net Income: $122,000 

· Preferred Stock Dividends Paid:  $35,000 

· Common Stock Dividends Paid:  $42,000 

· Common Shares outstanding at January 1: 50,000 

· 10 percent preferred $100 par value shares outstanding at January 1:  3,500 

· No stock transactions occurred in 2001 

· All preferred stock dividends were paid 

Calculate basic earnings per share (EPS) for Savannah for the year ended December 31, 2001.

	A)
	$2.44.

	B)
	$0.90.

	C)
	$1.74.

	D)
	$1.44.




Question: 62 - 29617 

Selected information from Federated Corp.’s financial activities in the year 2001 is as follows:
· Net income was $7,650,000. 
· 1,100,000 shares of common stock were outstanding on January 1. 
· The average market price per share was $62 in 2001. 
· Dividends were paid in 2001. 
· The tax rate was 40 percent. 
· 10,000 shares of 6 percent $1,000 par value preferred shares convertible into common shares at a rate of 20 common shares for each preferred share were outstanding for the entire year. 
· 70,000 options, which allow the holder to purchase 10 shares of common stock at an exercise price of $50 per common share, were outstanding the entire year. 
Federated Corp.’s Diluted earnings per share (Diluted EPS) was closest to:
	A)
	$4.91.

	B)
	$5.32.

	C)
	$6.41.

	D)
	$5.87.




Question: 63 - 29618 

Ultimate Corp. is evaluating whether to finance an equipment purchase by issuing convertible bonds or preferred stock that is not convertible. In differentiating the effects that each type of security would have on basic earnings per share (EPS) and diluted EPS, Ultimate should consider all of the following EXCEPT: 

	A)
	interest paid on convertible bonds may be tax deductible, but preferred stock dividends are not. 

	B)
	preferred stock dividends are subtracted from net income to arrive at the basic EPS numerator but convertible bond interest is not subtracted from net income.

	C)
	owners of bonds have a superior claim to the assets than preferred stockholders.

	D)
	convertible bonds are potentially a dilutive security while nonconvertible preferred stock is not dilutive.




Question: 64 - 29619 

Empire Watch Company’s basic earnings per share (EPS) and diluted earnings per share (Diluted EPS) were each $2.00 in 2000 but in 2001 EPS was $2.50 and Diluted EPS was $2.25. That EPS and diluted EPS were the same in 2000 and different in 2001 could possibly be explained by any of the following EXCEPT: 

	A)
	the average price per share of Empire Watch's common stock rose above the exercise price of warrants on the company's stock.

	B)
	Empire Watch issued convertible preferred stock in 2001.

	C)
	Empire Watch issued convertible bonds in 2001.

	D)
	Empire Watch purchased its own stock and held it as treasury stock in 2001.




Question: 65 - 29620 

For firms with a complex capital structure, all of the following are required to be included in the denominator of diluted earnings per share (Diluted EPS) EXCEPT the number of shares of: 

	A)
	antidilutive convertible securities.

	B)
	common stock outstanding.

	C)
	dilutive convertible preferred stock.

	D)
	dilutive convertible preferred bonds.




Question: 66 - 29621 

Draperies Unlimited, Inc. began operations in 2001 and must choose an inventory cost flow assumption for its financial statements and income tax reporting.  It will choose between the last in, first out (LIFO) method and the average cost method.  Draperies Unlimited’s inventory transactions are summarized below:

· January 5 - Purchased 100 draperies at $1,750 each.  

· February 11 - Purchased 200 draperies at $1.700 each. 

· April 30 – Purchased 250 draperies at $1,600 each. 

· July 17 – Purchased 100 draperies at $1,550 each. 

· October 27 – Purchased 150 draperies at $1,500 each. 

· December 17 – Purchased 300 draperies at $1,400 each. 

Assuming 500 units were sold during the year, Draperies Unlimited’s Inventory account on its balance sheet dated December 31, 2001 would be:
	A)
	$55,454 lower under LIFO than under average cost.

	B)
	$55,454 higher under LIFO than under average cost.

	C)
	$57,046 lower under LIFO than under average cost.

	D)
	$57,046 higher under LIFO than under average cost.




Question: 67 - 29622 

Selected information from Oldtown, Inc.’s financial statements for the year ended December 31, 2001 included the following (in $):
	Cash
	1,320,000
	 
	Accounts Payable
	1,620,000

	Accounts Receivable
	2,430,000
	 
	Deferred Tax Liability
	   715,000

	Inventory
	6,710,000
	 
	Long-term Debt
	15,230,000

	Property, Plant & Equip.
	12,470,000
	 
	Common Stock
	1,000,000

	  Total Assets
	22,930,000
	 
	Retained Earnings
	4,365,000

	 
	 
	 
	  Total Liabilities & Equity
	22,930,000

	Sales
	15,000,000
	 
	 
	 

	Net Income
	3,000,000
	 
	 
	 

	LIFO Reserve at Jan. 1
	1,620,000
	 
	 
	 

	LIFO Reserve at Dec. 31
	1,620,000
	 
	 
	 


Oldtown uses the last in, first out (LIFO) inventory cost flow assumption.  The tax rate was 40 percent.  If Oldtown changed from LIFO to first in, first out (FIFO) for 2001, net profit margin would:

	A)
	decrease from 20.0 to 13.5 percent.

	B)
	remain unchanged at 20.0 percent.

	C)
	decrease from 20.0 to 9.2 percent.

	D)
	decrease from 20.0 to 16.8 percent.




Question: 68 - 29623 

Premier Corp.’s year-end last in, first out (LIFO) reserve was $2,500,000 in 2000 and $2,300,000 in 2001. Premier’s $200,000 decline in the LIFO reserve could be explained by each of the following EXCEPT: 

	A)
	the LIFO reserve was being amortized.

	B)
	declining inventory prices.

	C)
	a LIFO liquidation occurred.

	D)
	inventory used exceeded purchases.




Question: 69 - 29624 

Undercarriage, Inc.’s cash flow from operations (CFO) in 2001 was $23 million after Undercarriage paid $16 million in 2001 to acquire a franchise that was capitalized and amortized over 4 years. If Undercarriage had expensed the franchise cost in 2001, CFO in 2001 would have been: 

	A)
	$11 million.

	B)
	$7 million.

	C)
	$39 million.

	D)
	unchanged.




Question: 70 - 29625 

Evergreen Company’s financial records disclose the following:

· A milling machine was purchased January 1, 1999 for $18,000,000. 

· Depreciation was taken in 1999, 2000 and 2001 using the straight-line depreciation method. 

· Salvage value was estimated to be $2,000,000. 

· Useful life was estimated to be 12 years. 

Ignoring income taxes, if in 2001 Evergreen changes the estimated useful life of the milling machine to a total of 18 years and salvage value to $3,000,000, what will be the effect on 2002 net income compared to what net income otherwise would have been?  Net income will be:
	A)
	$600,000 lower than what it would have been without the change.

	B)
	$333,333 higher than what it would have been without the change.

	C)
	$600,000 higher than what it would have been without the change.

	D)
	$333,333 lower than what it would have been without the change.




Question: 71 - 29626 

At the end of 2001, Lightning Inc. wrote down a permanently impaired asset.  

· Original cost of the asset was $40,000,000 at the beginning of 1994. 

· Salvage value was $2,000,000. 

· Straight-line depreciation was being taken over 16 years. 

· At the end of 2001, the present value of future cash flows from the asset was $2,000,000. 

As a result of the asset write-down, all else equal, operating income (earnings before interest and taxes) will:

	A)
	decrease $19,000,000 in 2001 and increase in 2002.

	B)
	decrease $19,000,000 in 2001 and decrease in 2002.

	C)
	not be affected in 2001 and increase in 2002.

	D)
	not be affected in either year.




A company issued a bond with a face value of $67,831, maturity of 4 years, and 7 percent coupon, while the market interest rates are 8 percent.
Question: 72 - 15017 

What is the un-amortized discount when the bonds are issued?
	A)
	-$498.58.

	B)
	-$15,726.54.

	C)
	-$2,246.65.

	D)
	-$1,748.07.


Question: 73 - 15017 

What is the un-amortized discount at the end of the first year?
	A)
	-$1,209.61.

	B)
	-$538.46.

	C)
	-$1,748.07.

	D)
	-$2,246.65.




A dance club purchased new sound equipment for $25,352. It will work for 5 years and has no salvage value. Their tax rate is 41 percent, and their annual revenues are constant at $14,384. For financial reporting, the straight-line depreciation method is used, but for tax purposes depreciation is accelerated to 35 percent in years 1 and 2 and 30 percent in Year 3. For purposes of this exercise ignore all expenses other than depreciation.
Question: 74 - 24689 

What is the tax payable for year one?
	A)
	$779.

	B)
	$1,909.

	C)
	$1,626.

	D)
	$2,259.


Question: 75 - 24689 

What is the deferred tax liability as of the end of year one?
	A)
	$1,909.

	B)
	$1,129.

	C)
	$320.

	D)
	$1,559.


Question: 76 - 24689 

What is the deferred tax liability as of the end of year three?
	A)
	$4,158.

	B)
	$780.

	C)
	$1,029.

	D)
	$1,909.




Question: 77 - 29627 

Enduring Corp. operates in a country where net income from sales of goods are taxed at 40 percent, net gains from sales of investments are taxed at 20 percent, and net gains from sales of used equipment are exempt from tax.  Installment sale revenues are taxed upon receipt.
For the year ended December 31, 2001, Enduring recorded the following before taxes were considered:
· Net income from the sale of goods was $2,000,000, half was received in 2001 and half will be received in 2002. 

· Net gains from the sale of investments were $4,000,000, of which 25 percent was received in 2001 and the balance will be received in the 3 following years. 

· Net gains from the sale of equipment were $1,000,000, of which 50 percent was received in 2001 and 50 percent in 2002. 

On its financial statements for the year ended December 31, 2001, Enduring should apply an effective tax rate of:
	A)
	22.86 percent and increase its deferred tax asset by $1,000,000. 

	B)
	8.57 percent.

	C)
	22.86 percent and increase its deferred tax liability by $1,000,000.

	D)
	26.67 percent and increase its deferred tax liability by $1,000,000. 




Question: 78 - 29628 

Selected information from Updown Industries, Inc. financial statements as of December 31, 2001 included the following (in $):

	Income Statement

	 
	 

	Sales
	42 

	Cost of Goods Sold
	(19)

	  Gross Profit
	23 

	Other Expenses
	(11)

	  Operating Profit
	12 

	Interest Expense
	-0- 

	  Net Income
	12 


	Balance Sheet

	 
	 
	 
	 
	 

	Cash
	12
	 
	Accounts Payable
	18

	Accounts Receivable
	22
	 
	Long-term Debt
	31

	Inventory
	31
	 
	Preferred Stock
	34

	Property, Plant & Equip.
	78
	 
	Common Stock
	10

	 Total Assets
	143
	 
	Retained Earnings
	50

	 
	 
	 
	 Total Liabilities & Equity
	143


If, instead of issuing $20 million of 10 percent convertible preferred stock, Updown had issued $20 million of 10 percent convertible bonds, excluding the effects of taxes, Updown’s return on equity (net income / equity accounts) would:

	A)
	increase from 12.8 to 16.2 percent.

	B)
	increase from 12.8 to 14.9 percent.

	C)
	increase from 12.8 to 13.5 percent.

	D)
	remain unchanged.




Question: 79 - 29629 

On December 31, 2000, York Company executed a 6-year lease with annual payments of $1,500,000 for a crane for its construction business.  The economic life of the crane is 9 years.  Title to the crane passes to York at the end of the lease.  The interest rate implicit in the lease is 5 percent.  York Company’s incremental borrowing rate is 8 percent.  The fair market value of the crane at the time the lease was signed was $8,500,000.  Treating the above transaction as an operating lease, York’s income statement for the year ended December 31, 2001 was as follows:
	Sales
	$34,000,000 

	Cost of Goods Sold
	17,200,000 

	  Gross Profit
	16,800,000 

	Depreciation
	(3,400,000)

	Lease Expense
	(1,500,000)

	Sales and Administration
	(4,200,000)

	  Operating Profit
	7,700,000 

	Interest Expense
	(1,000,000)

	Income Taxes
	(3,000,000)

	  Net Income
	$3,700,000 


After considering whether the crane lease should be reclassified as a capital lease, York’s Operating Profit will:
	A)
	increase from $7,700,000 to $7,931,077.

	B)
	increase from $7,700,000 to $8,044,280.

	C)
	remain unchanged.

	D)
	increase from $7,700,000 to $8,354,051.




Question: 80 - 29630 

Selected information from Ronald Company’s financial statements for the year ended December 31, 2001, was as follows (in $ millions):
	Cash
	68
	 
	Accounts Payable
	9

	Accounts Receivable
	  4
	 
	Short-term Debt
	0

	Inventory
	30
	 
	Long-term Debt
	85

	Property Plant & Equip (net)
	98
	 
	Common Stock
	14

	  Total Assets
	200
	 
	Retained Earnings
	92

	 
	 
	 
	  Total Liabilities & Equity
	200


Footnotes to the financial statement indicate that on November 30, 2001, Ronald Company sold all of its accounts receivable of $50 million to Garden Finance Company with recourse to Ronald in the event of a bad debt.  If analysis shows that this transaction should be reversed, Ronald’s current ratio will:

 
	A)
	decrease from 11.3 to 1.7.

	B)
	increase from 11.3 to 16.9.

	C)
	remain unchanged.

	D)
	decrease from 11.3 to 2.6.




Asset Valuation - 28 Questions - 42 minutes



Question: 81 - 28907 

Which of the following statements about agency theory is TRUE? 

	A)
	A company that pays fixed salaries with no variable compensation schemes likely has little agency conflict.

	B)
	An agency relationship is created when the board of directors appoints a new Chief Financial Officer.

	C)
	Restrictive debt covenants reduce the conflict between stockholders and managers.

	D)
	Encouraging managers to take on high-risk projects aligns their goals with that of bondholders.




Question: 82 - 28910 

Calculate the weighted average cost of capital (WACC) for a company with the following capital component information:
· Target weightings: wd = 30%, wps = 20%, ws =  15%, we = 35%, where wd, wps, ws and we are the weights used for debt, preferred stock, retained earnings, and common equity. 

· Tax Rate: 35%. 

· The firm can issue $1,000 face value, 7.00% semi-annual coupon debt with a 15-year maturity for a price of $1,047.46. 

· An 8.0% dividend new preferred stock issue with a value of $35 per share would result in net proceeds of $33.60 per share. 

· The cost of retained earnings is 10.5%. 

· The company’s growth rate is estimated at 6.0%. 

· The firm can issue new common stock with a price of $40.00, floatation costs of 3.0%, and a dividend in year 0 of D0 = $3.00. 

Which of the following is closest to the correct answer? The WACC equals: 

	A)
	9.82%.

	B)
	9.49%.

	C)
	9.05%.

	D)
	10.05%.




Question: 83 - 28913 

Which of the following statements about the cost of capital is TRUE? 

	A)
	New common equity used to finance projects is usually dilutive.

	B)
	The component cost of retained earnings equals the required rate of return on new stock.

	C)
	Using the marginal cost of capital (MCC) is superior to the weighted average cost of capital (WACC) because the MCC assumes different risks across projects.

	D)
	A firm can shift its retained earnings breakpoint by changing the dividend policy.




Question: 84 - 28919 

Norine Benson is studying for the Level 1 CFA examination and is having difficulty with the broader concepts of capital budgeting. Her study partner, Henri Manz, tests her understanding by asking her to identify which of the following statements is TRUE? 

	A)
	For mutually exclusive projects, the decision rule is to pick the project that has the highest net present value (NPV).

	B)
	If the change in current liabilities is greater than the change in current assets, it means that additional financing was needed and there is a cash outflow.

	C)
	An analyst can ignore inflation since price level expectations are built into the weighted average cost of capital (WACC).

	D)
	Replacement decisions involve mutually exclusive projects.




Question: 85 - 28921 

Kgraphix, a small, privately owned publishing company, plans to upgrade its printing process by purchasing either a high-speed color laser printer or a webpress (a high speed color printing machine). Incremental cash flow information for each piece of equipment is as follows:

· Color Laser Printer: Initial cost of $40,000, cash flows of $20,000 for each of the next three years. 

· Webpress: Initial cost of $90,000, cash flows of $25,000 for each of the next six years. 

Assuming that the company’s weighted average cost of capital (WACC) is 13 percent, which of the following statements is most correct? Kgraphix should purchase the:

	A)
	webpress because its net present value (NPV) of $9,939 is greater than the color laser printer's NPV of $7,223.

	B)
	color laser printer because its Internal rate of return (IRR) is higher than that of the webpress.

	C)
	color laser printer because it has the highest equivalent annual annuity.

	D)
	webpress because it has the longest life and the highest net present value (NPV).




Question: 86 - 28925 

Which of the following statements about dividend policy and capital structure is TRUE? 

	A)
	A person who believes in the clientele effect and a proponent of the "bird-in-hand" theory would have similar views on dividend payout policy.

	B)
	Investors view a stock repurchase as a positive signal and a stock issue as a negative signal.

	C)
	A diversified shareholder is most concerned with stand-alone risk.

	D)
	Monte Carlo simulation is used to estimate market risks; scenario analysis measures stand-alone risk.




Question: 87 - 28927 

Given the following information about a manufacturing firm, determine the optimal capital structure.

· Target Payout Ratio of 40% 

· Estimated Growth Rate (g) of 0% 

· Overall Tax Rate of 40% 

· Cost of Debt is before tax 

	Debt/TA
	k(d) (%)
	EPS ($)
	k(e) (%)
	WACC (%)
	Stock Price

	0.10 
	7.00 
	1.62
	12.0
	11.22 
	5.40 

	0.25 
	7.50 
	1.85
	13.0
	?
	? 

	0.40 
	8.50 
	2.16
	14.5
	? 
	? 

	0.50 
	9.50 
	2.43
	16.5
	11.10 
	5.89 


The optimal capital structure for this firm is:
	A)
	10% Debt, 90% Equity.

	B)
	25% Debt, 40% Equity.

	C)
	40% Debt, 60% Equity.

	D)
	50% Debt, 50% Equity.




Question: 88 - 28931 

Using the following assumptions, calculate the stock price at which investors Helen Alba, who shorts the stock on margin, and Kobin Lubis, who purchases the stock on margin, will receive a margin call. 

· Market Price Per Share: $42 

· Number of Shares Purchased: 1,000 

· Holding Period: 1 year 

· Ending Share Price: $50 

· Initial Margin Requirement: 45% 

· Maintenance margin: 30% 

· Transaction and borrowing cost: $0 

Which of the following choices is closest to the correct answer? Alba will receive a margin call at a stock price of:

	A)
	$33.00 and Lubis will receive a margin call at a stock price of $37.66.

	B)
	$33.00 and Lubis will receive a margin call at a stock price of $53.45.

	C)
	$46.85 and Lubis will receive a margin call at a stock price of $33.00.

	D)
	$37.66 and Lubis will receive a margin call at a stock price of $53.45.




Question: 89 - 28933 

Laleh Mali conducts a stock transaction with the following characteristics: 
· She could have conducted the trade at any time of day. 
· She placed a stop-buy order in conjunction with the trade. 
· The stock was a new issue of a firm already trading on the exchange. 
· She placed her trade with a dealer. 
Which of the following statements about Mali’s trade is least likely to be correct? Mali placed her order in:
	A)
	a continuous market.

	B)
	an order driven market.

	C)
	conjunction with a short sale.

	D)
	the secondary market.




Question: 90 - 28934 

Which of the following statements about short selling is FALSE? 

	A)
	A short sale involves securities the investor does not own.

	B)
	According to the uptick rule, a short sale can only trade at a price higher than previous trade.

	C)
	A short seller loses if the price of the stock sold short falls.

	D)
	A short seller is required to set up a margin account.




Question: 91 - 28938 

Tamber Benz, CFA, recently joined Bay Area Investment Group as a personal financial planner. Today, she has a meeting with a client interested in equity index funds, with a particular interest in learning about the source and direction of biases. In preparation for this meeting, she makes some quick notes (relying on her memory). These notes are listed below. She then finds her well-worn CFA study notes and checks her memory. After reviewing her notes, which of the following choices does she determine is INCORRECT? 

	A)
	The Dow Jones Industrial Index has a built-in downward bias.

	B)
	An index such as the Valueline Composite Average is constructed by purchasing an equal number of shares of each stock in the index, and will have a downward bias when geometric averaging is used to compute the return.

	C)
	One problem with an index such as the S&P 500 is that firms with greater market capitalization have more impact than other firms.

	D)
	A market value-weighted index, such as the New York Stock Exchange Index, accurately reflects the impact of price changes on wealth.




Question: 92 - 28943 

Indie Carson, management consultant, wants to become a portfolio manager. While researching the position, she learns that obtaining the CFA Charter is very important. She decides to take the Level 1 examination this June, and begins to study. During the reading on efficient markets, she rethinks her new career choice. If markets are efficient, what is the role of a portfolio manager? Distraught, she e-mails her mentor, LaMeda Durio. Durio wants to use the occasion to help Carson study, so she e-mails Carson the following reply (summarized in points A through D below) and asks her to identify the INCORRECT statement.

Which of the following choices does Carson select as FALSE? Assuming an efficient market, portfolio managers assist clients with: 
	A)
	minimizing transaction costs. 

	B)
	quantifying risk tolerances and return needs.

	C)
	rebalancing the portfolio when necessary.

	D)
	diversifying globally to reduce systematic risk.




Question: 93 - 28948 

Kaylee Sumners, Level 1 CFA candidate, is having difficulty remembering the tests for the three forms of the efficient market hypothesis (EMH). On her first attempt to outline the information from memory, she made numerous mistakes. After reviewing the material, she tries again to summarize the information. This time, three of her four points are correct. Which of her summary points is INCORRECT? 

	A)
	Results of trading rule tests, such as filter rules, support the semi-strong form of the EMH.

	B)
	The historical performance of professional money managers supports the strong-form of the EMH. 

	C)
	Early tests of the semi-strong form used the formula: ReturnAbnormal = ReturnActual - RMarket

	D)
	The tests for the semi-strong form EMH give mixed results. Time-series tests such as dividend yield and default spread reject the semi-strong form EMH and event studies on stock splits and announcements of accounting changes support it.




Question: 94 - 29022 

Katrina Whittcomb, junior analyst, is trying to understand what variables impact the price/earnings (P/E) ratio for a stock. Specifically, she wants to determine under what circumstances the P/E ratio will increase or decrease. A senior analyst in the group, Clinton Dermont, devises the following question to help her understand the impact of changes in P/E variables. To make the question less theoretical, he provides the following assumptions:

· Earnings retention rate at 60% 

· Required rate of return, ke, of 11% 

· Return on equity (ROE) of 13%, expected to remain constant 

Using the information above, determine which of the following statements is most likely FALSE. All else equal, if the:

	A)
	dividend payout increases, the P/E ratio will increase.

	B)
	expected inflation rate decreases, the P/E ratio will rise above 12.5.

	C)
	earnings retention ratio increases, the P/E ratio will increase.

	D)
	risk free-rate increases, the P/E ratio will decrease.




Question: 95 - 29028 

Calculate the earnings per share (EPS) for the plastic bead industry using the information below.                

· Sales per share of $250 

· EBIDTA ratio of 60% 

· Depreciation per share of $50 

· Interest per share of $20 

· Overall tax rate of 50% 

The industry’s EPS is closest to:

	A)
	$110.

	B)
	$22.

	C)
	$54.

	D)
	$40.




Question: 96 - 29032 

Amie Minami recently graduated from the University of Rivendell School of Business and is now studying for the Level 1 CFA examination. She thought she would never have to read about Porter’s Five Forces again. However, while taking an online review quiz to help her focus her studies, she sees a question on Porter. Luckily, she remembers all the points and correctly identifies that one of the choices is incorrect. Which of the following choices is FALSE? 

	A)
	Porter details three strategies that are available to firms in a competitive environment: low-cost, differentiation, and vertical integration.

	B)
	Porter's five forces are the first step in identifying and evaluating a firm's specific competitive strategy. 

	C)
	When the threat of substitution is highest, profit margins will be low, particularly for commodity-like products.

	D)
	Suppliers are more powerful if they are more concentrated than the firms in that industry. 




Question: 97 - 29034 

Which of the following statements about asset valuation is TRUE? 

	A)
	The bottom-up stock picking approach is: first, stock analysis, second, industry analysis, and third, economic analysis

	B)
	The absolute value of economic value added (EVA®) is less important than the trend.

	C)
	Earnings are considered the variable least likely to be manipulated.

	D)
	A domestic steel firm and a foreign steel firm will have similar earnings per share (EPS) levels and price/earnings (P/E) ratios.




Question: 98 - 29036 

Which of the following statements about contrary-opinion and smart money technicians is CORRECT? 

	A)
	If mutual funds cash holdings are more than 13% of total fund assets, smart-money technicians are bullish.

	B)
	When the ratio of short sales by specialists to total NYSE short sales is at 0.20, smart-money technicians are bearish.

	C)
	The CBOE put call ratio is 0.75. Contrary-opinion technicians are bullish.

	D)
	When the yield spread on high quality versus lower-quality bonds narrows, the confidence index decreases and smart-money technicians become bullish.




Question: 99 - 29039 

Jay Crewson, equity analyst at a large investment bank, formerly worked with a group of contrary-opinion technician traders who traded exclusively using contrary indicators. He was recently transferred to support a group of smart-money technicians. Since he is still adjusting to the “new” rules, he asks Richard Ruscoe, another analyst in the group, to review his work. Ruscoe reviews Crewson’s latest recommendation list and points out that one of the statements is incorrect. Which of the following is the INCORRECT statement? Buy: 
	A)
	debit balances in brokerage accounts increased.

	B)
	the ratio of short sales by specialists to total NYSE short sales fell below 0.30. 

	C)
	investor credit balances in brokerage accounts increased.

	D)
	the yield-differential between high quality and lower-quality bonds decreased to 90 basis points. 




Question: 100 - 29040 

Mikal Cosce uses technical analysis to determine his trading behavior. Cosce would be least likely to agree with which of the following statements? 
	A)
	He supports the weak form of the efficient market hypothesis.

	B)
	Stock prices move in trends, and these trends persist.

	C)
	Technical analysis tells him when to buy.

	D)
	He does not have to rely on accounting information.




Question: 101 - 29045 

Assume an investor makes the following investments:

· Today, she purchases a share of stock in Redwood Alternatives for $50.00. 

· After one year, she purchases an additional share for $75.00. 

· After one more year, she sells both shares for $100.00 each. 

· There are no transaction costs or taxes. 

· The investor’s required return is 35.0%. 

During year one, the stock paid a $5.00 per share dividend. In year two, the stock paid a $7.50 per share dividend.

The time-weighted return is:

	A)
	51.4%.

	B)
	51.7%.

	C)
	23.2%.

	D)
	14.7%.




Question: 102 - 13674 

A bond has a yield of 10 percent and an effective duration of 7.5 years. If the market yield changes by 10 basis points, what is the change in the bond's price? 

	A)
	0.375%.

	B)
	1.500%.

	C)
	2.000%.

	D)
	0.750%.




Question: 103 - 29185 

Scott Malooly recently paid $109.05 for a $1000 face value, semi-annual coupon bond with a quoted price of 105 6/32. Assuming that transaction costs are zero, which of the following statements is TRUE? 

	A)
	Malooly purchased the bond between coupon dates.

	B)
	The price Malooly paid covers the amount of the next coupon payment not earned by the seller.

	C)
	The bond was trading ex-coupon. 

	D)
	The price Malooly paid includes the discounted amount of accrued interest due to seller.




Question: 104 - 29186 

A 12-year, $1,000 face value zero-coupon bond is priced to yield a return of 7.00 percent on a semi-annual basis. What is the price of the bond, and how much interest will the bond pay over its life, respectively? (Select the choice that is closest to the correct answer.) 

	A)
	$562, $438.

	B)
	$444, $556.

	C)
	$840, $160.

	D)
	$438, $562.




Question: 105 - 29181 

Four years ago, at the advice of J.T. Lindseth, her financial planner, T.J. Ali purchased a $1,000 face, 5.70 percent, semi-annual coupon bond with four years to maturity priced to yield 8.50 percent for $906.70. Now, the bond has matured, and Lindseth calls Ali and informs her that because he had invested the coupons at an annual rate of 10.0 percent, her realized return was approximately: 

	A)
	8.65%.

	B)
	8.50%.

	C)
	10.00%.

	D)
	8.35%.




Question: 106 - 29182 

Kwagmyre Investments, Ltd., hold two bonds: a callable bond issued by Mudd Manufacturing Inc. and a putable bond issued by Precarious Builders. Both bonds have option adjusted spreads (OAS) of 135 basis points (bp). Kevin Grisly, a junior analyst at the firm, makes the following statements (each statement is independent). Apparently, Grisly could benefit from a CFA review course, because the only statement that could be CORRECT is: 

	A)
	Given a nominal spread for Precarious Builders of 110 bp, the option cost is -25 bp.

	B)
	The cost of the call option on the Mudd bond is -15bp.

	C)
	The Z-spread for Mudd's bond is based on the YTM. 

	D)
	The spread over the spot rates for a Treasury security similar to Mudd's bond is 145 bp.




Question: 107 - 29184 

Consider an annual coupon bond with the following characteristics:

· Face Value of $100 

· Time to Maturity of 12 years 

· Coupon Rate of 6.50% 

· Issued at Par 

· Call Price of 101.75 (assume the bond price will not exceed this price) 

For a 75 basis point change in interest rates, the bond’s duration is:

	A)
	8.17 years.

	B)
	5.09 years.

	C)
	8.79 years.

	D)
	5.80 years.




Question: 108 - 29179 

Collete Minogue holds stock in Bracken Entertainment. Although many of her associates still believe that Bracken will be a high-performing stock, Minogue has lost faith and wants to conduct a covered call transaction. Current market conditions are as follows: 

· Stock Price (S) at $33 per share. 

· Strike Price of $39. 

· Premium of $5.  

· No transaction costs. 

In assessing whether she should conduct the covered call strategy, Minogue sketches out the following graph. Although her sketch is correct, she cannot remember all the labels. 
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Which of the following statements about the graph and the covered call strategy is INCORRECT?
	A)
	If Minogue goes ahead with the covered call, she will limit her gain to $11. 

	B)
	The distance between points C and D is $5. 

	C)
	The call writer will have unlimited upside potential. 

	D)
	Line Y represents the covered call's profit line.




Portfolio Management - 12 Questions - 18 minutes



Question: 109 - 28846 

Clair Boschart is preparing for her CFA study group’s discussion of the security market line (SML). She asks her co-worker, a fellow CFA candidate, to review her summary of points. Which of the following statements does the co-worker identify as INCORRECT? If: 

	A)
	risk perception increases, the SML will rotate counterclockwise.

	B)
	inflation expectations increase, the SML will experience an upward parallel shift.

	C)
	economic growth decreases, the SML will experience an upward parallel shift.

	D)
	the capital markets tighten, the SML will experience an upward parallel shift.




Question: 110 - 28847 

Which of the following equations is INCORRECT? 

	A)
	Real Risk-Free Rate = [(1 + nominal Risk-Free rate) * (1 + inflation rate)] - 1.

	B)
	Expected Return (SML) = Rnominal Risk-Free + (RMarket - Rnominal Risk-Free) * Beta.

	C)
	Required Returnnominal = [(1 + Risk-Free Ratereal) * (1 + Expected Inflation) * (1 + Risk Premium)] - 1.

	D)
	Risk premiumFundamental view = total risk = business risk + financial risk + liquidity risk + exchange rate risk + country risk. 




Question: 111 - 28854 

Isabelle Santana and Marat Loring are studying for the Level 1 CFA examination. Loring is having difficulty determining the objectives and constraints of defined contribution and defined benefit pension plans. To help Loring study, Santana creates the following list of characteristics and asks Loring to select the one that is FALSE. Which statement should Loring select? 

	A)
	For a defined benefit plan, the most important factors that affect long-term fund performance are the individual asset selection process and the degree of market timing allowed.

	B)
	Both plans are tax-exempt.

	C)
	Both plans are federally regulated under the Employee Retirement Income Security Act (ERISA).

	D)
	The employee bears all the investment risk in a defined contribution plan.




Question: 112 - 28855 

Which of the following statements about institutional investors is TRUE? 

	A)
	Banks have high liquidity needs and short time horizons.

	B)
	Pension funds and endowment funds have low liquidity needs and long time horizons, carry tax exempt status, and both are regulated at the state and federal level.

	C)
	In general, Life Insurance companies have lower liquidity needs and shorter time horizons than Property/Casualty Insurance Companies.

	D)
	The liquidity and time horizon parameters for defined contribution pension plans are determined by employee age and turnover rate.




Question: 113 - 28864 

The graph below combines the efficient frontier with the indifference curves for two different investors, X and Y (represented by U(X) and U(Y)). The letters A, B, C, and D represent four distinct portfolios.
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Which of the following statements about the above graph is CORRECT? 

	A)
	The backward bend in the efficient frontier is due to less than perfect correlation between portfolio assets.

	B)
	Investor X would be better off moving to indifference curve U(X)1 and Portfolio C because of the higher return on that portfolio.

	C)
	Investor X is less risk-averse than Investor Y.

	D)
	Portfolio B is an optimal portfolio, Portfolio A is suboptimal.




Question: 114 - 28865 

Kendra Jackson, CFA, is given the following information on two stocks, Rockaway and Bridgeport. 

· Covariance between the two stocks = covRockaway, Bridgeport = 0.0325 

· Standard Deviation of Rockaway’s returns = Rockaway = 0.25 

· Standard Deviation of Bridgeport’s returns = Bridgeport = 0.13 

Assuming that Jackson must construct a portfolio using only these two stocks, which of the following combinations will result in the minimum variance portfolio?

	A)
	100% in Rockaway.

	B)
	50% in Bridgeport, 50% in Rockaway.

	C)
	80% in Bridgeport, 20% in Rockaway.

	D)
	100% in Bridgeport.




Question: 115 - 28869 

Fabrice Miro and Victoria Leete are studying for the Level 1 CFA examination. Miro wants to test Leete’s understanding of the graph of the capital market line (CML) and the efficient frontier. He develops the following statements and asks her to identify the one that is FALSE. Assuming that Leete answers correctly, which statement does she select? 
	A)
	The market portfolio lies on the CML and has only unsystematic risk.

	B)
	The CML is not always straight.

	C)
	Investors move up and down the CML by varying the weightings of the risk-free asset and portfolio M by either lending or borrowing the risk-free asset.

	D)
	One weakness of the CML graph is that it measures standard deviation against returns.




Question: 116 - 28871 

Turi Teigen, CFA candidate, prepares the following question for her weekly Level 1 study program. 

· The letters X, Y, and Z represent risky asset portfolios. 

· The security market line (SML) crosses the y-axis at the point 0.05. 

· The market premium is 7.5%. 

· Portfolio Y and Z have the same expected return (holding period return). 

· The graph is NOT drawn to scale. 
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Using the graph (along with the list of assumptions), determine which of the following statements is CORRECT.
	A)
	The expected return on Portfolio Y could be 15.00%.

	B)
	The expected return on Portfolio Z is greater than the required return.

	C)
	The required return on Portfolio X is 10.25%.

	D)
	Portfolio X is overvalued. 




Question: 117 - 28875 

Which of the following statements about portfolio management is TRUE? 

	A)
	As an investor diversifies away the unsystematic portion of risk, the correlation between his portfolio return and that of the market approaches negative one.

	B)
	The security market line (SML) measures systematic and unsystematic risk versus expected return; the CML measures total risk.

	C)
	Combining the capital market line (CML) (risk-free rate and efficient frontier) with an investor's indifference curve map separates out the decision to invest from the decision of what to invest in.

	D)
	The expected return on a 0 beta security is the expected market return.




Question: 118 - 28876 

Which of the following statements about Arbitrage Pricing Theory (APT) and the Capital Asset Pricing Model (CAPM) is FALSE? 

	A)
	APT can equal CAPM.

	B)
	In both the APT and the CAPM, the risk-free rate is added to a premium for risk factor (X) and the responsiveness of the asset's returns to factor (X). 

	C)
	If zero-investment arbitrage does not hold, the APT does not hold.

	D)
	APT is a multi-factored model with restrictive assumptions.




Question: 119 - 28880 

While in the managerial training program for a large multinational corporation, Daniel Waite is assigned a one-year rotation in the Mediterranean. Upon arriving at the assignment, he purchases a local (foreign currency) bond with an annual coupon of 8.5 percent for 96.5. He holds the bond for one year and then sells it for 98.0. Waite is pleased with his return, which he calculates at 10.4%.

On the plane ride home, Waite is seated next to his fellow coworker, Penny King, who begins to talk about the depressed local economy and the negative returns she had experienced on her local bond investments over the same period as Waite. She states that her total dollar return on an 8.0 percent annual coupon bond purchased at the same time as Waite's for 95.0 and sold for 98.0 (at the same time as Waite's) was a disappointing negative 10.737%.

Assume that King’s calculation is correct and that Waite made some calculation error. Which of the following is closest to Waite’s actual total dollar return? 
	A)
	-32.435%.

	B)
	-10.363%.

	C)
	-18.756%.

	D)
	-11.712%.




Question: 120 - 28883 

Which of the following statements about international portfolio investing is FALSE? 

	A)
	The majority of risk for individual foreign country markets is unsystematic.

	B)
	When markets are volatile, global diversification is of increased value.

	C)
	Barriers to international diversification include lack of liquidity, currency controls, and exchange rate risk.

	D)
	While the introduction of foreign stocks ("second layer") into a domestically-only diversified portfolio shifts the efficient frontier up and left, adding a "third layer" of foreign bonds shifts the efficient frontier even more up and left.


==========================================
Test # = 613463

Correct Answers

	1) A
	2) D
	3) B
	4) A
	5) C
	6) C
	7) C
	8) C
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Answers

1) A
Under Standard I(A), Salvatore must, as a CFA charterholder, apply the AIMR Code and Standards or the controlling law, whichever is stricter. Even though the Standard IV(A3) permits accepting gifts of US $100 or less with disclosure to the member’s employer, in this instance the stricter laws of Oldworld, where Salvatore is licensed, apply to prohibit the gifts, even though the gifts are offered in Newworld. 



2) D
Jones must pursue her concerns about a possible misstatement, because, if material, it may be misleading to investors. Consistent with Standard I(B), Jones must not knowingly participate or assist in a regulatory violation. As long as her concerns exist, she must not validate any financial statements by voting to approve them. In addition she should seek competent legal counsel both at her own firm and at Dewey Manufacturing. She should not go to regulatory bodies until she has more certainty about the possible misstatement and has received counsel that she should proceed. 



3) B
Use of the CFA mark and an indication of membership in AIMR is restricted to current members. However, a former member may indicate the fact that a CFA charter was awarded and the date of the award, as long as current membership is not implied and the statement is historical in nature. 



4) A
Standard II(B) prohibits members from committing any act that reflects adversely on their trustworthiness or professional competence. Convictions are not necessary if the act or acts reflect negatively on Brown’s professional competence. 



5) C
Standard III(B) requires members to obtain written consent from both their employer and the contracting party before undertaking independent practice in competition with their employer. Travelli needs to seek such consent from both entities because it does not appear that she can argue successfully that there is no competition between Worldwide and Seaside. They apparently are both research firms, industry specialization may not prevent competition, and Travelli should be devoting her time and energy to her employment, unless her employer consents to the contract work. 



6) C
Standard III(C) requires members to comply with any prohibitions on activities imposed by their employer if a conflict of interest exists. The firm policy is designed to minimize potential conflicts involving employees and vendors, and so a violation of the policy would also violate Standard III(C). 



7) C
Any benefit or compensation a member receives from a client that is in addition to employer-paid compensation or benefits must be disclosed in writing to the employer. There is no exception for payments that are not contingent upon performance. 



8) C
Standard III(E) requires that if a member cannot discharge compliance responsibilities because of a poor compliance system, the member should decline in writing to accept supervisory responsibility until the firm adopts an adequate system. 



9) B
Standard IV(A1) states that members must have a reasonable and adequate basis for taking investment action. Relying on a statistical rating service is reasonable. Adding an airline stock to a portfolio that was already severely overweighted in airline stocks without taking the entire portfolio into consideration or justifying the new position is a violation. 



10) A
Standard IV(A3) requires members to maintain independence and objectivity. A visit by an analyst to an out-of-the-way site may be paid for by a client company host as long as the trip is all business and the analyst can maintain objectivity. Members should encourage clients to limit the use of corporate aircraft, but exceptions can be made if transportation would not otherwise be available or would be inefficient. 



11) A
Standard IV(B1) requires members to comply with their fiduciary duty. Retirement plan managers owe their duty to the plan participants, not to the management of the company sponsoring the plan. The fiduciary duty includes the obligation to diversify the plan’s investments, regardless of the quality of the sponsoring company’s stock. Investing in the company’s stock is not prohibited. 



12) B
Standard IV(B2) requires prompt disclosure of any change that might significantly affect the manager’s investment processes. The disclosure need not be in writing and is not required to be made in advance. 



13) B
Standard IV(B4) provides that transactions for clients have priority over personal trades. Family accounts that are considered client accounts receive the same treatment as client accounts. 



14) A
Standard IV(B6) prohibits members from making statements, orally or in writing, that misrepresent the services that they or their firms are capable of providing. Even though Blank’s statement was not deliberately false, he did not know whether it was true or not, and this made the statement misleading. Once it was evident that the statement was false, Blank had a duty to contact the prospect and correct the misrepresentation, but did not do so. 



15) C
Standard V(A) prohibits members from taking investment action if they possess material nonpublic information that was misappropriated or relates to a tender offer or if trading would breach a duty. Pierce combined information that was not misappropriated with her knowledge of the company to reach a conclusion under the mosaic theory, which is permissible under the standards. She can proceed to buy the shares. 



16) B
Standard V(A) prohibits members from taking investment action if they possess material nonpublic information that related to a tender offer. When a tender offer is involved, the source of the information is irrelevant, and the information may not be used to take any investment action. 



17) D
Standard V(B) requires that when members communicate firm performance information to clients or prospects, members must make every reasonable effort to assure that the performance presentation is fair, accurate, and complete. Only actual portfolios may be included in composites. Combinations of different types of portfolios may not be combined into new portfolios. 



18) D
No “except for” language is permitted in the legend prescribed for firms who claim compliance with PPS. Members or firms may claim compliance with the standards only of the peformance presentations meet all of the requirements. There is no requirement about the specific location of the legend in the report. 



19) B
This statement is true for the normal distribution. The above distribution is positively skewed. Note: for those tempted to use Chebyshev’s inequality to determine the percentage of observations falling within one standard deviation of the mean, the formula is valid only for k > 1.

The other statements are true. When we order the six prices from least to greatest: $12, $12, $15, $16, $17, $30, we observe that the mode (most frequently occurring price) is $12, the median (middle observation) is $15.50 [(15 + 16)/2], and the mean is $17 (sum of all prices divided by number in the sample). Time-Saving Note: Just by ordering the distribution, we can see that it is positively skewed (there are large, positive outliers). By definition, mode < median < mean describes a positively skewed distribution. 


20) B
Step 1: Calculate the annual payment.
Using a financial calculator (remember to clear your registers) : PV = 15,000, FV = 0, I/Y = 11, N=7, PMT= $3,183
Step 2: Calculate the portion of the first payment that is interest.
            Interest1 = Principal * Interest rate = (15,000 * 0.11) = 1,650
Step 3: Calculate the portion of the second payment that is principal.
Principal1 = Payment – Interest1 = 3,183 – 1,650 = 1,533 (interest calculation is from Step 2)
            Interest2 = Principal remaining * Interest rate = [(15,000 – 1.533) * 0.11] = 1,481
            Principal2 = Payment – Interest1 = 3,183 – 1,481 = 1,702


21) A
Use Chebyshev’s Inequality to calculate this answer. Chebyshev’s Inequality states that for any set of observations, the proportion of observations that lie within k standard deviations of the mean is at least 1 – 1/k2. We can use Chebyshev’s Inequality to measure the minimum amount of dispersion whether the distribution is normal or skewed. Here, 1 – (1 / 2.42) = 1 - 0.17361 = 0.82639, or 82.6%. 



22) C
Because the rate is compounded continuously, we need to use the formula: PV = FVe-rt, or PV = FV / ert (remember that a negative exponent is the same thing taking the reciprocal.).  Here, PV = 100,000 * e-0.08*5 = 100,000 * 0.67032 = $67,032. Note: the term of 5 years represents the number of years until Tekei receives her inheritance.
Calculator Keystrokes for e-rt: Using the TI BA, enter [0.40] [+/-] [2nd] [e x] (this is the key with LN on the face of the button). On the HP, enter [0.40] [CHS] [g] [ex] (this key is located in blue on the key with 1/x in white print).


23) C
We are being asked to calculate the interest rate for an ordinary annuity. Set your calculator to END mode before you input the variables. Then, PMT = -1,000, N = 8, PV = 0, FV = 8,500, Compute I/Y = 1.72. This is the quarterly rate, so multiplying by 4 results in an annual rate of approximately 6.90%. 



24) D
The high temperature population variance is less than the sample variance. Calculating the high temperature population variance would take quite a bit of time – so look for a shortcut! For the population of high temperatures, we are given the mode and the CV. Here, there are two tricks: Remember that the CV = standard deviation / mean and that for a normal distribution, the mean=median=mode. We can manipulate the CV equation as standard deviation = mean * CV, or 13 * 0.165 = 2.145. Squaring this result gives a variance of 2.1452  = 4.60. Thus, the high temperature population variance is less than the sample variance.
The other statements are true. The strategy here is to work from the “easiest” to the most difficult calculations. (Note: all units are oC unless stated otherwise.) 
· The question tells us that the low temperatures are positively skewed with a mean of 6.9. For a positively skewed distribution, we know that the mean > median > mode. Thus, the mode is less than the mean, or 6.9. 

· The population with the lowest CV has the least dispersion. Thus, the population of high temperatures (CV of 0.165) is less dispersed than in the population of low temperatures (CV of 0.328). 

· Again, calculating the low temperature population standard deviation would take quite a bit of time – so look for a shortcut! For the population of high temperatures, we are given the mean and the CV. Here, there is only one trick (we are given the mean): manipulate the CV equation as standard deviation = mean * CV, or 6.9 * 0.328 = 2.26. Unfortunately, there is no real shortcut for the low temperature sample standard deviation, which is calculated as follows: 

· Sample mean is given at 7.2. 

· Variance = [(3 – 7.2)2 + (6 – 7.2)2 + (10 – 7.2)2 + (9 – 7.2)2 + (8 – 7.2)2] / (5 – 1) = 7.7 

· Standard Deviation = 7.71/2 = 2.78. 

Thus, the population standard deviation of 2.26 is less than the sample standard deviation of 2.78.



25) D
The geometric return is calculated as follows:
[(1 + 0.20) * (1 + 0.15) * (1 + 0.0) (1 - 0.05) (1 – 0.05)]1/5 – 1,
or [1.20 * 1.15 * 1.0 * 0.95 * 0.95]0.2 – 1 = 0.449, or 4.49%.


26) A
To calculate this probability, we will use Bayes’ theorem:
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First, we will calculate the probability that that a start-up is accepted by a venture capital firm, since this is the denominator of Bayes’ Theorem.

= [P(Accepted & Fail) * P(fail)] + [P(Accepted & Succeed) * P(succeed)]                                  = [(0.25 *0.8) + (0.75 * 0.2)] = 0.35
Note: This also shows that the choice, “Sisti’s chance of randomly selecting a start-up that a venture capital firm has accepted is 0.55” is false. 

Then, The P(Accepted & Fail) = (0.2 / 0.35) * 0.8 = 0.46

Explanation for other false choices: 

· Using the same denominator calculated above and Bayes’ Theorem to calculate a posterior probability: The P(Accepted & Succeed) = (0.75 / .35) * 0.2 = 0.43. Once Sisti knows that a start-up has been accepted by a venture capital firm, the probability that that start-up will succeed increases from 0.20 (given) to 0.43. Thus, the information increases his chance of investing in start-ups likely to succeed. 

· By definition, the probability that a start-up will fail plus the probability that the start-up will succeed is equal to 1. 



27) D
Even if the device that generates an event is not fair, the events can be mutually exclusive and exhaustive. Consider a standard die with the possible outcomes of 1,2,3,4,5 and 6. The P(2 or 4 or 6) = 0.50 and P(1 or 3 or 5) = 0.50, and thus the probabilities sum to 1 and are mutually exclusive and exhaustive. An unfair die would not change this.

The other statements are false. The probability of any event is between 0 and 1, inclusive. It is possible that the probability of an event could equal 0 or 1, or any point in between. The sum of the probabilities of events E1 though Ex equals 1 if the events are mutually exclusive and exhaustive. Mutually exclusive means that events do not share outcomes. 


28) C
First, we will calculate the expected return of each stock and of the portfolio. Then, we will calculate the covariance of the two stocks. Finally, we will calculate the portfolio variance.  Note: Although it is unlikely that AIMR would have such a calculation-detailed question on the exam (for example, you may be given the covariance), it is important to know how to do the calculations! Throughout this explanation, ER = expected return and VAR = variance.
ERLovebirds = (0.35 * 0.20) + (0.65 * .05) = 0.1025, or 10.25%
ERLories = (0.35 * 0.12) + (0.65 * .08) = 0.0940, or 9.40%
ERPortfolio = wLovebirds * ERLovebirds + wLories * ERLories = (0.30 * 0.1025) + (0.7 * 0.094) = 0.09655, or 9.65%
VARLovebirds = Sum of P(Returni) * (Return – Expected Returni)2 
= 0.35 * (0.20 – 0.1025)2 + 0.65 * (0.05 – 0.1025)2 = 0.00333 + 0.00179 = 0.00512
VARLories = Sum of P(Returni) * (Return – Expected Returni)2 
                   = 0.35 * (0.12 – 0.094)2 + 0.65 * (0.08 – 0.094)2 = 0.00024 + 0.00013 = 0.00037
Before we calculate the variance of the portfolio, we need to calculate the covariance of the two stocks.

COVARLovebirds, Lories = Sum of Pi * (RLovebirds – ERLovebirds) * ( RLories – ERLories)
= (0.35 * (0.20 – 0.1025) * (0.12 – 0.094)) + (0.65 * (0.05 – 0.1025) * (0.08 – 0.094)) 
                                                  = 0.00089 + 0.00048 = 0.00137
Then, VARPortfolio = [(wLovebirds2*VARLovebirds)+(wLories2*VARLories)+(2*wLovebirds* wLories*COVARLovebirds, Lories)]
                           =[(0.32 * 0.00512) + (0.72 * 0.00037) + (2 * 0.3 * 0.7 * 0.00137)]
= 0.00046 + 0.00018 + 0.00058 = 0.00122


29) C
The combination formula applies to only two groups of predetermined size, but look for the word “choose” or “combination.” The permutation formula applies to only two groups of predetermined size. Look for a specific reference to “order.” The other statements are true. 



30) A
To calculate this answer, we will use the properties of the standard normal distribution. 
The 50% confidence interval corresponds to µ ± 0.67*σ, or 150 ± (0.67 * 20) = 150 ± 13.4, or 136.6 to 163.4 inches.
Note: This question is an example of why it is important to memorize the general properties of the normal distribution (LOS 1.D.l). These approximations are listed below. 
· 34% of the area falls between 0 and +1 standard deviation from the mean. So, 68% of the observations fall within ± one standard deviation of the mean. 
· 45% of the area falls between 0 and +1.65 standard deviations from the mean. So, 90% of the observations fall within ± 1.65 standard deviations of the mean. 
· 47.5% of the area falls between 0 and 1.96 standard deviations from the mean. So, 95% of the observations fall within ± 1.96 standard deviations of the mean. 
And the following often-used approximations:
· Approximately 50% of all observations fall in the interval µ ± 0.67*σ 
· Approximately 68% of all observations fall in the interval µ ± σ 
· Approximately 95% of all observations fall in the interval µ ± 2*σ 
· Approximately 99% of all observations fall in the interval µ ± 3*σ 


31) B

The central limit theorem tells us that for a population with a mean µ and a finite variance σ2, the sampling distribution of the sample means of all possible samples of size n will be approximately normally distributed with a mean equal to µ and a variance equal to σ2/n, no matter the distribution of the population, assuming a large sample size. The standard error of the sample mean when the standard deviation of the population is known is:

σsample mean= σ/√n = 5/√50 = 0.707 


32) C
Evidence that the researcher used data mining is that he was defensive about the lack of economic theory consistent with his results and that he used the same database of data for all his tests. One way to avoid data mining is to test the trading rule on out-of-sample data.  Sample selection bias occurs when some data is systematically excluded from the analysis, usually because it is not available. Here, the researcher excluded stocks for which he could not determine the CEO’s birthday. Time-period bias can result if the time period is too short or too long. Here, it is likely that the period was too short since the researcher used a cut-off date of the month before the latest market correction. Note: this could be an additional example of data mining.

We are not given enough information to determine if the researcher is guilty of look-ahead bias (which occurs when the analyst uses historical data that was not publicly available at the time being studied). Survivorship bias is a type of sample selection bias. An example of survivorship bias is when a mutual fund performance study excludes funds that have dropped out of the sample because they on longer exist.



33) C
This definition is correct. The other choices are false. The probability that a parameter lies within a range of estimated values is given by 1 - σ. The standard deviation of the distribution of the sample means is the standard error of the sample mean. The term residual is used during the discussion of regression that occurs later in this study session. The standard error of the sample means when the standard deviation of the population is known equals σ / √n, where σ = population standard deviation.



34) D
Using the process of Hypothesis testing:

            Step 1:  State the Hypothesis
                        Ho: d = 0

                        Ha: d > 0

            Step 2:  Select Appropriate Test Statistic
Here, we have a null and alternative hypothesis about a paired comparison test. The appropriate test statistic is thus
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Where sd = (standard deviation of the sample) / √ n
Step 3:  Specify the Level of Significance
Here, the confidence level is 99%, or 0.99, which translates to a 0.01 significance level. 

Step 4:  State the Decision Rule
Since we are most interested in whether the average speed decreased, this is a one-tailed test. The critical value for this question will be the t-statistic that corresponds to an of 0.01, and 120 (n-1) degrees of freedom. Using the t-table, we determine that the appropriate critical value = 2.358. Thus, we will reject the null hypothesis if the calculated test statistic is greater than 2.358

Step 5:  Calculate sample (test) statistic
The test statistic = t = ([(67.5 – 63.8) – 0] / (1.5 / √ 121) = 27.133
Step 6:  Make a decision
Reject the null hypothesis of no difference in means (in other words, conclude that the average speed decreased) because the calculated statistic is greater than the critical value. Oldenbotum can report with 99% confidence that the average speed on the road has decreased after the heightened enforcement.

The other statements are false. The test statistic is given in Step 5. We reject or fail to reject Ho (the null hypothesis), not Ha (the alternative hypothesis). Ho is: d = 0, meaning that there is no difference in average speed after the increased monitoring. (Ho always includes the = sign.)



35) A
The standard error of the estimate (SEE) will be high if the relationship is weak and low if the relationship is strong. The SEE is the standard deviation of the predicted dependent variable values about the estimated regression line.

The other statements are true. The statement of the R2 relationship is just a restatement of R2 = SSR/SST, where SST = SSE + SSR. That regression relations change over time is also referred to as non-stationarity. 


36) A
The prediction interval is calculated as follows:

Step 1: Calculate the predicted variable value using the regression formula
Y = intercept + Beta * X = 200 + (2.5 * 450) = 1325

Step 2: Calculate the interval
Here, we need the critical t-value (two-tailed test, 39 (40-1) degrees of
freedom, alpha of 0.05 = 2.021) and the standard error of the forecast,
which is the square root of the variance of the forecast.
Interval = 1325 ± (328061/2 * 2.021) = 1325 ± 366 = approximately
(960 ≤ Y ≤ 1690)


37) A
The actual deposit multiplier will generally be less than the potential deposit multiplier for two reasons. First, the deposit expansion multiplier will be reduced if some people decide to hold the currency rather than deposit it in a bank. Second, the actual deposition multiplier will be less than its maximum potential when banks fail to use all the new excess reserves to extend loans. 



38) C
The adaptive expectations view does not explain stagflation. The early, downward-sloping Phillips Curve suggested a simple choice - you have to accept inflation or unemployment. You can't lower both.  The trade-off between inflation and unemployment, as in the short-run Phillip’s Curve (SRPC), is consistent with adaptive expectations. However, in the 1970s, stagflation (rising inflation and rising unemployment) occurred and cast doubt on this original Phillips curve. One of the most convincing explanations for stagflation came from Milton Friedman. He developed a variation on the original Phillips Curve (PC) called the expectations-augmented Phillips Curve. We now think of the early Phillips Curve as a short-run model. 

The other statements are true. Under the rational expectations view, an expected contractionary demand policy will not affect output or unemployment in the short run or the long run. In the short run, decision-makers anticipated the impact and have already adjusted. In the long run, inflation is independent of unemployment.  Unemployment in the long run is determined from the physical make-up of the economy. The long-run Phillips Curve (LRPC) is thus vertical, reflecting the absence of the inflation/unemployment trade-off. Keep in mind that the only difference between rational and adaptive expectations has to do with the short run. Under adaptive expectations (SRPC), there is a trade-off between unemployment and inflation. Under rational expectations, the unemployment rate is not affected. In the long run, the results are identical (prices change.) According to adaptive expectations, anticipated expansionary policy results in decreased unemployment and increased output (in the short run) because individuals underestimate inflation when prices are accelerating. When inflation is underestimated, the increase in actual inflation will prove to be unexpected. Real wages will be lower for a time while the price level is decreasing. Lower real wages encourage firms to hire more labor, resulting in higher employment and output.



39) B
GNP is the total market value of output produced by the nationals of a country, regardless of where they live. Gross domestic product (GDP) is the total market value of the goods and services produced domestically (within a country’s borders, regardless of citizenship) during the year. 



40) B
An unexpected increase in consumer spending (i.e. aggregate demand) will cause aggregate demand (AD) to shift to the right, putting upward pressure on wages and prices and a short-run decrease in unemployment. 



41) A
Temporary shocks such as reduced oil prices affect short-run aggregate demand and supply, but not long-run demand and supply. 



42) A
Markets have three primary self-correcting mechanisms:

· Consumption demand: households tend to save more in expansions and dip into savings during contractions, which tends to stabilize demand. 

· Real interest rates: real interest rates rise during periods of expansion due to increased demand for borrowed funds, and they tend to fall during periods of contraction, giving consumers and businesses incentives to borrow. 

· Resource prices: resource prices tend to rise in expansions and fall during contractions. 
Note that most monetary policy tools are enacted by the Federal Reserve and most fiscal policy tools are enacted by the Government; the tools are discretionary, not self-correcting.


43) A
In a period of unanticipated inflation, borrowers win and lenders lose. Lenders tend to hold long-term contracts in which they will receive a fixed dollar payment. Borrowers who are paying on a long-term fixed rate contracts will win at the lenders expense when there is unanticipated inflation because the borrowers will be able to repay the loan with cheaper dollars. 



44) C
The Fed’s monetary policy tools include the required reserve ratio, the discount rate and open market operations.

· Required reserve ratio: changes the required reserves at member banks which affects the deposit multiplier. 

· Open market operations: the Fed buys and sells Treasury securities in order to control the monetary base. 

· Discount rate: the Fed sets the interest rate it charges banks when they borrow from the Fed. 


45) D
Advocates of rational expectations feel that policy changes do not affect output and employment, only prices. They believe policy changes will be anticipated and individuals will adjust output and employment accordingly. 



46) B
An oligopolistic industry has a few sellers with large economies of scale, a great deal of interdependence among firms, and high barriers to entry. 



47) B
For normal goods (income elasticity between 0 and 1), an increase in salary will shift the budget constraint line outward and Rojas will consume more of both good A and good B.

The other statements are true. The substitution effect occurs when the price of one good relative to the price of another increases or decreases. If the price of one good changes relative to the price of another good, the slope of the budget line rotates and a new tangency point is created with respect to a particular indifference curve. The result is that Rojas will give up some of one good for the other. Remember: Under the substitution effect, goods will be consumed along the same indifference curve, whereas under the income effect, they will be consumed along a different indifference curve. 


48) C
The inverse relationship between the price of a good and the amount buyers will pay is called the law of demand. Note that the law of supply states that there is direct relationship between the price of a good and the amount producers are willing to supply. 



49) D
The practice of charging different consumers different prices for the same product or service is called price discrimination. 



50) D
The U.S. government’s action is an example of a quota. A quota works in the same way as a tariff; however, a quota is an import quantity limitation and a tariff is a tax imposed on imports. A quota can be more harmful than a tariff because the government does not receive any funds as it would under a tariff (the foreign producers receive the revenue transfer). U.S. consumers are hurt because the quota reduces the supply of imported goods and thus domestic consumers pay a higher domestic price. 



51) A
A single-step income statement groups total revenues together and total expenses together. A multi-step income statement provides subtotals. 



52) D
Accounts receivable balances are the same under both methods. The others will be larger because of the gross profit recognized in the first year under the percentage-of-completion method that is not recognized until the last year of the completed contract method. Note that the net construction in progress account under percentage of completion represents cumulative costs plus gross income. Under the completed contract method, only the cumulative project costs are included. 



53) A
Depreciation expense on the press was taken at $110,000 per year (($820,000 - $50,000) / 7)) beginning with a half-year ($110,000 * .5 = $55,000) in 1998 and two full years in 1999 and 2000 ($110,000 + $110,000). An additional half-year of depreciation expense ($55,000) should be taken in 2001 for the period from the beginning of 2001 to June 30, 2001. As of June 30, 2001 the net book value of the press machine was (($820,000 – $55,000 - $110,000 - $110,000 - $55,000 =) $490,000. Upon sale of the press a loss on sale of ($400,000 - $490,000 =) -$90,000 was incurred. Realized losses (and gains) from the sale of property, plant and equipment are posted to the income statement. The total impact of the press in 2001 was the sum of the depreciation and the realized loss taken (-$90,000 - $55,000 =) -$145,000. 


54) A
Income from discontinued segments that are a separate major line of business is reported “below the line” (i.e. after income from continuing operations and before net income). Because management has adopted a formal plan to dispose of the textile division, its results are posted to discontinued operations even though the division has not yet been sold. Gains or losses from a sale of a group of assets are considered to be not so unusual and infrequent as to exclude them from continuing operations. Only the $4 million after tax gain on the asset sale is included “above the line” in income from continuing operations. 



55) A
Under the direct method, cash provided by operating activities is cash collections less cash inputs less other cash outflows. Cash inputs are cost of goods sold plus increase (or less decrease) in inventory plus decrease (or less increase) in accounts payable. Cost of goods sold for Carver in 2001 was beginning inventory plus purchases less ending inventory ($23,000,000 + $39,000,000 - $21,000,000 = $41,000,000). The decrease in inventory was ($23,000,000 - $21,000,000 = $2,000,000). The increase in accounts payable was ($39,000,000 * 1 / 3 = $13,000,000). Cash inputs were ($41,000,000 - $2,000,000 - $13,000,000) = $26,000,000. Cash provided by operating activities for Carver, Inc. in 2001 was ($67,000,000 - $26,000,000 - $22,000,000 =) $19,000,000. 



56) C
An installment contract measured by cost when cost is reliably estimated and payment is assured should be accounted for under the percentage-of-completion method, which recognizes revenue as costs are incurred. For calendar year 2000, Land Removal, Inc. should have recognized ($80,000 / $400,000 =) 20 percent of revenues and costs. Revenues of ($600,000 * .20 =) $120,000 less expenses of ($400,000 * .20 =) $80,000 left a positive impact of $40,000 on income from continuing operations in 2000. 



57) B
Other cash outflows include income tax payments in 2001. Income tax payments consist of income tax expense plus the increase in taxes payable less the decrease in deferred income tax. (-$35,000 + $10,000 - $25,000 = -$50,000, or a cash outflow of $50,000). 



58) D
Using the indirect method:
	Add:  Net Income
	$10 

	Add:  Depreciation Expense
	22 

	Less:  Gain from Sale of Equip.
	(6)

	Less:  Increase in Accounts Receivable
	(4)

	Add:  Decrease in Inventory
	    2 

	Add:  Increase in Accounts Payable
	    5 

	  Cash flow from operations (CFO)
	29 




59) B
Galaxy’s sustainable growth rate (g = (1 – dividend payout ratio) * (net income / sales) * (sales / assets) * (assets / equity)) is ((1 – (20 / 60)) * (60 / 270) * (270 / 400) * (400 / 140) =) 28.6 percent. (Note that dividends paid are the difference between net income and retained earnings because Galaxy is in its first year of operations). 



60) C
On a common size income statement, all amounts are stated as a percentage of net sales. Dollars of interest expense per dollar of sales has declined from 0.15 to 0.07. The other interpretations listed are not necessarily true. 



61) C
Savannah Corp.’s basic EPS ((net income – preferred dividends) / weighted average number of common shares outstanding) was (($122,000 - $35,000) / $50,000 =) $1.74. 



62) B
Federated’s basic earnings per share (EPS) ((net income – preferred dividends) / weighted average shares outstanding) for 2001 was (($7,650,000 – ($1,000 * 10,000 * .06)) / 1,100,000 =) $6.41.

If the convertible preferred stock was converted to common stock at January 1, 2001, (10,000 * 20 =) 200,000 additional common shares would have been issued, dividends on the preferred stock would not have been paid, and Diluted EPS would have been ($7,650,000 / (1,100,000 + 200,000) = $5.88. Because $5.88 is less than basic EPS of $6.41, the preferred shares are dilutive.

Using the treasury stock method, if the options were exercised cash inflow would be (70,000 * 10 * $50 =) $35,000,000. The number of Federated shares that can be purchased with the inflow (cash inflow divided by the average share price) is ($35,000,000 / $62 =) 564,516.

The number of shares that would have been created is (700,000 – 564,516 =) 135,484. Diluted EPS was ($7,650,000 / (1,100,000 + 135,484) =) $6.19. Because this is less than the EPS of $6.41, the options are dilutive.

Combining the calculations, Diluted EPS was (($7,650,000) / (1,100,000 + 200,000 + 135,484) = $5.32. 



63) B
There is no substantive difference between the handling of preferred stock dividends and convertible bond interest in terms of computing EPS and diluted EPS. Convertible bond interest is subtracted out before net income is computed, and preferred stock dividends are subtracted out after net income and before basic or diluted EPS is calculated. The point is that they are both subtracted at some point in the computation, so there is no different treatment between them. The other answers are all relevant factors Ultimate should include in their decision. 



64) D
The reacquisition of treasury stock affects the denominator of both the EPS and Diluted EPS equations, but does not cause identical numbers to become different. The other factors will cause potential earning dilution and will therefore cause diluted EPS to be less than basic EPS. 



65) A
Neither EPS nor Diluted EPS includes antidilutive (inclusion would increase EPS) securities in the denominator of their equations. 



66) D
For the (1100 – 500 =) 600 units remaining in inventory, under the LIFO method, ending inventory consisted of the first items purchased of ((100 * $1,750) + (200 * $1,700) + (250 * 1,600) +(50 * $1,550) =) $992,500. Under the average cost method the average cost of each unit was (((100 * $1,750) + (200 * $1,700) + (250 * $1,600) + (100 * $1,550) + (150 * $1,500) + (300 * $1,400)) / 1,100 =) $1,559, and the total cost was ($1,559 * 600 =) $935,454. LIFO inventory was ($992,500 - $935,454 =) $57,046 higher than average cost. 



67) B
Net profit margin under LIFO (net income / net sales) was ($3,000,000 / $15,000,000 =) 20.0 percent. Under FIFO, net income does not change in 2001 because there was no change in the LIFO reserve balance, and no adjustment of net income is made. 



68) A
A decline in the LIFO reserve occurs when the increasing prices that created the reserve begin declining or when the inventory is liquidated (i.e. less units in inventory at the end of the year than at the beginning). LIFO reserves are not amortized. 



69) B
Capitalization is a reduction in cash flow from investing (CFI) while expensing uses CFO. Expensing instead of capitalizing would have shifted the entire outlay of $16 million for the franchise from a reduction in cash flow from investing (CFI) to a reduction in cash flow from operations (CFO). 2001 CFO would be ($23 - $16 =) $7 million. 


70) C
Straight line depreciation was originally at a rate of (($18,000,000 - $2,000,000) / 12 =) $1,333,333 per year. After 2001, the carrying value of the milling machine was ($18,000,000 – (3 * $1,333,333) =) $14,000,000. After the change, straight-line depreciation would be (($14,000,000 - $3,000,000) / (18 – 3) =) $733,333 per year. The difference is a ($1,333,333 - $733,333 =) $600,000 decrease in depreciation expense, which, ignoring taxes, results in an increase in net income of $600,000. 



71) A
Impairment write-downs reduce operating income by the amount of the impairment. The carrying value of the asset at the end of 2001 was ($40,000,000 – (8 * ($40,000,000 - $2,000,000) / 16)=) $21,000,000. The write-down (carrying value - present value of future cash flows) is ($21,000,000 – $2,000,000 =) $19,000,000. The write-down reduces the future depreciation amount, so operating income will increase in 2002, all else equal. 



72) C



73) C



74) D

Tax payable for year one will be $2,259 = [{$14,384 - ($25,352 * .35)} * .41].


75) D

The deferred tax liability for year 1 will be $780. Pretax Income = $9,314 ( $14,384 - $5,070). Taxable Income = $5,511 ($14,384 - $8,873). Deferred Tax liability = $1,559 [($9,314 - $5,511)(.41)]. 


76) A

The deferred tax liability at the end of year 3 will be $4,158 ($1,559 + $1,559 + $1,040). Pretax Income = $9,314 = ( $14,384 - $5,070). Taxable Income = $6,778 = [$14,384 - ($25,352 * .30)]. Deferred Tax liability for year 3 = $1,040 = [($9,314 - $6,778)(.41)]. Deferred Tax liability for year 1 = $1,559 = [($9,314 - $5,511)(.41)]. Deferred Tax liability for year 2 = $1,559 = [($9,314 - $5,511)(.41)]. 


77) C
Total taxes eventually due on 2001 activities were (($2,000,000 * 0.40) + ($4,000,000 * 0.20) =) $1,600,000. Permanent differences are adjusted in the effective tax rate, which is ($1,600,000 / $7,000,000 =) 22.86 percent. Of the $1,600,000 taxes due, (($2,000,000 * 0.50 * 0.40) + ($4,000,000 * 0.25 * 0.20) =) $600,000 were paid in 2001 and $1,000,000 ($1,600,000 - $600,000) is added to deferred tax liability. 



78) C
Updown’s return on equity leaving the convertible preferred stock in place was ($12 / ($34 + $10 + $50) =) 12.8 percent. If $20 million in 10 percent bonds were substituted for the preferred stock, the return on equity would increase, because net income adjusted for interest would be ($12 - ($20 * 0.10) =) 10.0, and equity would be reduced to ($14 + $10 + $50 =) $74. Return on equity would be ($10 / $74 =) 13.5 percent. 



79) D
The crane lease is a capital lease, despite the fact that the lease is for (6 years / 9 years =) 67 percent of the asset’s economic life, because of the title transfer at the end of the lease period. The minimum interest rate between the lease’s implicit interest rate of 5 percent and York Company’s incremental borrowing rate of 8 percent is used to capitalize the lease. The present value of the lease payments is (PV annuity N = 6, I/Y = 5, PMT = $1,500,000) $7,613,538. The $1,500,000 payment made December 31, 2001 is allocated ($7,613,538 * 0.05 =) $380,177 to interest and ($1,500,000 - $380,177 =) $1,119,823 to principal. Depreciation expense is computed over 9 years because when there is a title transfer, depreciation is taken over the asset’s economic life on a straight-line basis ($7,613,538 / 9 =) $845,949. Adjusting the income statement to remove operating lease expense and include depreciation expense results in operating income of ($7,700,000 + $1,500,000 - $845,949 =) $8,354,051. 



80) D
Reversing the transaction increases accounts receivable on the asset side and short-term debt on the liabilities side by $50 million. Because the ratio was more than one, adding equally to the numerator and denominator reduces the ratio to ((68 + 4 + 30) + 50) / (9 + 50) =) 2.6. 



81) B
An agency relationship is created when decision-making authority is delegated to an agent without the agent being 100% responsible for the consequences of her decisions. Here, unless the Chief Financial Officer owns 100% of the firm, she has an agency relationship with the company.

Stockholders and managers both benefit from risky projects that increase profitability and firm value. However, bondholders bear the risk of bankruptcy. Thus, encouraging managers to take on high-risk projects does not help to align their goals with that of creditors. A company that pays fixed salaries with no variable compensation schemes is not set up to reduce agency conflict. Without managerial compensation plans that motivate managers to act to increase stock price, stockholders and managers may have disparate goals. 


82) B
Step 1: Determine the after-tax cost of debt:
The after-tax cost of debt [kd (1 – t)] is used to compute the weighted average cost of capital.  It is the interest rate on new debt (kd) less the tax savings due to the deductibility of interest (kdt).
Here, we are given the inputs needed to calculate kd: n = 15*2 = 30, PMT = (1000*0.07)/2 = 35, FV = 1000, PV = -1047.46, compute I = 3.25, multiply by 2 = 6.50%.  
Thus, kd (1 – t) = 6.50% * (1 – 0.35) = 4.22%
Step 2: Determine the cost of preferred stock:
Preferred stock is a perpetuity that pays a fixed dividend (Dps) forever.  The cost of preferred stock (kps) = Dps / Pnet
	where
	Dps  = preferred dividends.

	 
	Pnet  = net issuing price after deducting flotation costs.


      Here, Dps = 0.08 * $35.00 = $2.80, so kps = Dps / Pnet = $2.80 / $33.60 = 0.0833, or 8.33%.
Step 3: Determine the cost of retained earnings: Given as 10.5%.

Step 4: Determine the cost of common equity:
The cost of new common equity is given by:
            ke = [D1 / (P0 (1 – F))] + g
	where
	F = the percentage flotation cost incurred in selling new stock, or

	 
	(current stock price – funds going to company) / current stock price                     

	 
	D1 = Dividend in next year

	 
	P0 = Current stock price

	 
	g = Dividend growth rate


Here, D1 = D0 * (1 + g) = $3.00 * ( 1 + 0.06) = $3.18.  F is given.
ke = [ 3.18 / (40 * (1 – 0.03))] + 0.06 = 0.1420 or 14.20%.
Step 5: Calculate WACC:
WACC = (wd)(kd) + (wps)(kps) + (ws)(ks)+ (we)(ke)
where wd, wps, ws and we are the weights used for debt, preferred stock, retained earnings, and common equity.
Here, WACC =  (0.30 * 4.22%) + (0.20 * 8.33%) + (0.15 * 10.5%) + (0.35 * 14.2%) = 9.49%.
Note: Your calculation may differ slightly, depending on whether you carry all calculations in your calculator, or round to two decimals and then calculate.


83) D
The firm can shift the break point of the MCC schedule by changing its payout ratio through the dividend policy. Remember that the dividend payout ratio is in the numerator of the calculation that dictates the breakpoint between lower cost internally generated equity (retained earnings) and higher cost externally generated equity (common stock). 

The other choices are false. New common equity is not by definition dilutive. However, if the firm does not earn the cost of new common equity on the portion of the investment that is financed with the new issue, the firm’s earnings per share will fall. The MCC is the cost of the last dollar raised by the company and assumes constant risk across projects. The component cost of retained earnings equals the required rate of return on existing stock.



84) D
Because replacement decisions involve either keeping the old asset or replacing the old asset, the projects are mutually exclusive.

The decision rule for NPV is to pick the project with the highest positive NPV. Only projects with positive NPV add to the company’s value. If a neither project has a positive NPV, neither project should be chosen.  The statement about net working capital (NWC) is stated in the reverse of how we usually think of it:  in NWC = Current Assets – Current Liabilities. Here, the change in current liabilities exceeds the change in current assets and the result is negative, meaning the project frees up cash, creating a cash inflow.  Because the WACC is adjusted for inflation, the analyst must adjust project cash flows upward to reflect inflation. If the cash flows are not adjusted for inflation, the NPV will be biased downward. (Reverse the preceding logic for deflation.)


85) C
Here, we have two projects with unequal lives, so we have to adjust the cash flow. We can either adjust the cash flows of the shorter-term project to match the life of the longer-term project (adjusted NPV), or we can use the equivalent annual annuity (EAA) approach. The answer given is most correct because the project with the highest EAA will have the highest adjusted NPV, and the color laser printer has the highest EAA (and adjusted NPV). (See table below.)

The statement, “Kgraphix should purchase the webpress because its NPV of $9,939 is greater than the color laser printer’s NPV of $7,223,” calculates NPV only using the given lives (or unadjusted NPV). Unadjusted NPV is not the best criterion to use for deciding between mutually exclusive projects with unequal lives. Although the color laser printer has an IRR higher than that of the webpress, IRR is also not the best criterion to use for mutually exclusive projects with unequal lives

Quantitatively: (all amounts are in $ unless indicated otherwise):

	Year
	Color Laser – unadj.
	Color Laser – adj.1
	Webpress

	0
	-40,000
	-40,000
	-90,000

	1
	20,000
	20,000
	25,000

	2
	20,000
	20,000
	25,000

	3
	20,000
	-20000
	25,000

	4
	(CF end in year 3)
	20,000
	25,000

	5
	 
	20,000
	25,000

	6
	 
	20,000
	25,000

	 
	 
	 
	 

	NPV
	7,223
	12,229
	9,939

	IRR
	23%
	23%
	17%

	EAA
	3,059
	-
	2,486


Notes:

1Repeats color laser project beginning in year 3; year 3 cash flow equals the net initial investment cost of $40,000 and $20,000 inflow from the last year of the “first” printer.

Following are examples of how to use financial calculator to solve this problem. (Note, the example is for the unadjusted NPV, IRR, and EAA of the color laser printer. Use a similar methodology to determine the NPV, IRR, and EVA for the other cash flows streams.

	Calculating NPVA with the HP12C®

	 
	Key Strokes
	Explanation
	Display
	 

	 
	[f][FIN][f][REG]
	Clear Memory Registers
	               0.00000
	 

	 
	[f][5]
	Display 5 decimals – you only need to do this once.
	               0.00000
	 

	 
	40,000[CHS][g][CF0]
	Initial Cash Outlay
	      -40,000.00000
	 

	 
	20,000[g][CFj]
	Period 1 Cash flow
	       20,000.00000
	 

	 
	3[g][Nj]
	Cash Flow Occurs for N periods 
	               3.00000
	 

	 
	13[i]
	WACC
	             13.00000
	 

	 
	[f][NPV]
	Calculate NPV
	        7,223.05196 
	 

	
	 
	 
	 
	


	Calculating IRRA with the HP12C®

	Key Strokes
	Explanation
	Display

	[f][FIN][f][REG]
	Clear Memory Registers
	        0.00000

	-40,000[CHS][g][CF0]
	Initial Cash Outlay
	-40,000.00000

	20,000[g][CFj]
	Period 1 Cash flow
	 20,000.00000

	3[g][Nj]
	Cash Flow occurs for 3 periods
	        3.00000

	[f][IRR]
	Calculate IRR
	       23.37519


	Calculating EAAA with the HP12C®

	Key Strokes
	Explanation
	Display

	[f][FIN][f][REG]
	Clear Memory Registers
	0.00000

	-7,223[PV]
	Unadjusted NPV of Project1
	-7,223.00000

	3[n]
	Number of Periods
	        3.00000

	13[i]
	Discount Rate
	      13.00000

	[PMT]
	Calculate Payment (EAA)
	3,059.09919


Note: 1Negative sign is for calculator functionality, not to signify a negative amount.


86) B
Investors view a stock repurchase as a positive signal and a stock issue as a negative signal. A repurchase may mean that management believes the stock is undervalued. To understand why a stock issue is viewed negatively, consider the following circumstances: A biotech company has a new blockbuster drug that will increase its profitability, but to produce and market the drug, the company needs to raise capital. If the company sells new stock, then as sales (and thus profits) occur, the price of the stock will rise. The current shareholders will do well but not as well as they would have had the company not sold more stock before the share price increased. Thus, it is assumed that management will prefer to finance growth with non-stock sources.

The other statements are false. A person who believes in the clientele effect and a proponent of the “bird-in-hand” theory would not have similar views on dividend policy. The clientele effect suggests that different groups of investors want different dividend levels (often based on tax status), and through the law of supply and demand, investors will select companies that meet their needs. Thus, dividend payout policy does not matter. According to the “bird-in-hand” theory, investors prefer dividends to capital appreciation because they view the former (D1 / P0) as less risky than the latter (g, or growth rate). Stand-alone risk is the company’s individual, or unique, risk. An undiversified shareholder is concerned with stand-alone risk. A diversified shareholder is most concerned about undiversifiable, or systematic, risk. Both Monte Carlo simulation and scenario analysis are used to estimate stand-alone risk. 



87) C
After calculating the missing data points in the table, we can determine that the capital structure of 40% debt and 60% equity minimizes the WACC and maximizes the stock price (see calculations below), and is thus considered optimal. 

To calculate WACC for the missing data points, we will use the formula:
WACC = (wd)(kd) + (we)(ke), where wd, we are the weights used for debt and common equity.

         WACC for the 25% Debt, 75% Equity Structure:

WACC =  [0.25 * (7.50*(1-0.4))] + (0.75 * 13.0%) = 10.88%.
         WACC for the 40% Debt, 60% Equity Structure:

WACC =  [0.40 * (8.50*(1-0.4))] + (0.60 * 14.5%) = 10.74%. (Represents the Min. WACC).
To calculate the Stock Price for the missing data points, we will use the formula: P0 = D1 / ke
Here, we need to calculate D1 using the EPS and payout information; g is given as 0.0%.

         Stock Price for the 25% Debt, 75% Equity Structure: 

D1 = EPS * (1 – Payout) = $1.85 * 0.40 = 0.74; P0 = 0.74 / 0.13 = $5.69.
         Stock Price for the 40% Debt, 60% Equity Structure:

D1 = EPS * (1 – Payout) = $2.16 * 0.40 = 0.864; P0 = 0.864 / 0.145 = $5.96. (Maximum stock price)
 


88) C

Calculations are as follows:
Since Alba is short (sold the stock), the formula for the margin call price is:
Margin Call = (original price) * (1 + initial margin) / (1 + maintenance margin) 
   = $42 * (1 + 0.45) / (1 + 0.30) = $46.85
Since Lubis is long (purchased the stock), the formula for the margin call price is:
Margin Call = (original price) * (1 – initial margin) / (1 – maintenance margin) 
    = $42 * (1 – 0.45) / (1 – 0.30) = $33.00
 


89) D
Seasoned issues are new issues by a firm whose shares are already traded on the exchange and are traded in the primary market. The other statements are likely true. Note that stop buy orders are often placed to protect a short sale from a rising market 



90) C
A short seller loses if stock prices rise. The other choices are true. 



91) B
Although the latter part of this statement is correct, the first part is incorrect. The Valueline Composite Average is an unweighted price indicator series, and is constructed by maintaining an equal dollar investment in each stock in the index. The return of an unweighted index is usually calculated using a geometric average. Assuming the existence of volatility, the geometric average will always be lower than the arithmetic average.

The other statements are true. The Dow Jones Industrial Index is a price-weighted index and thus has a built-in downward bias because of the impact of stock splits. After a stock split, the denominator is adjusted downward to keep the index at the same level as before the split. Since high-growth companies tend to announce stock splits more frequently than low-growth companies, the larger, more successful firms lose influence on the index. The S&P 500 index is a market-value weighted index. One problem with market-value weighted indexes is that firms with greater market capitalization have more impact than other firms. If these firms also have higher returns, the firms can dominate the index. 



92) D
This a “trick” question. Although portfolio managers can help clients diversify globally, they do so to reduce unsystematic risk. Systematic, or market risk, is undiversifiable.

The other statements are true. There are three ways for a portfolio manager to minimize transaction costs: reduce taxes, reduce trading volume (turnover) and minimize liquidity costs by trading relatively liquid stocks. 



93) A
Results of trading rule tests, such as filter rules, support the weak form of the EMH.

The other choices are true. Tests show that professional money managers perform no better than a random buy and hold strategy. This supports the strong form EMH contention that stock prices reflect all information- public and private. (Aside from corporate insiders and specialists, no group has monopolistic access to information that would result in superior returns.) 



94) A

Memo: The P/E ratio = Dividend Payout Ratio / (ke – g), 

· Dividend payout = 1 - retention = 1 – 0.60 = 0.40 

· g = retention rate * ROE = 0.60 * 0.13 = 0.078 

· P/E ratio = 0.40 / (0.11 – 0.078) = 12.5 

Impact of variables:

· Increase in dividend payout/reduction in earnings retention. In this case, an increase in the dividend payout will likely decrease the P/E ratio. Since the dividend payout + retention rate = 1, any increase in the dividend payout decreases the retention rate. A decrease in earnings retention will likely lower the P/E ratio. The logic is as follows: Because earnings retention impacts both the numerator (dividend payout) and denominator (g) of the P/E ratio, the impact of a change in earnings retention depends upon the relationship of ke and ROE. If the company is earning a higher rate on new projects than the rate required by the market (ROE > ke), investors will likely prefer that the company retain more earnings. Since an increase in the dividend payout would decrease earnings retention, the P/E ratio would fall, as investors will value the company lower if it retains a lower percentage of earnings. (To check this quantitatively, substituted a lower retention rate and carry the calculations through. You will find that the P/E ratio declines below 12.5. 

· Decrease in the expected inflation rate. The expected inflation rate is a component of ke  (through the nominal risk free rate).  ke can be represented by the following:  nominal risk free rate + stock risk premium, where nominal risk free rate = [(1 + real risk free rate) * (1 + expected inflation rate)] – 1. 

· If the rate of inflation decreases, the nominal risk free rate will decrease. 

· ke will decrease. 

· The spread between ke and g, or the P/E denominator, will decrease. 

· P/E ratio will increase. 

· Increase in the risk-free rate. This is the reverse of the logic for an increase in the expected inflation rate. 

· If the risk-free rate increases, the nominal risk free rate will increase. 

· ke will increase. 

· The spread between ke and g, or the P/E denominator, will increase. 

· P/E ratio will decrease. 

 



95) D

The formula for the industry EPS is:
EPSindustry = [(Per share Sales Estimate) * (EBITDA%) – D – I] * (1 - t)
                            = [($250 * 0.60) - $50 - $20] * (1 – 0.5) = $40.00


96) A
While vertical integration may be a strategy, Porter identified two strategies that are available to firms in a competitive environment: a low-cost strategy and a differentiation strategy. The other statements are correct. 



97) B
Management’s performance over time is most important.

The other statements are false. The bottom-up stock picking approach consists of one step – pick the stocks you believe are underpriced, regardless of the state of the economy or the industry. The choices given here for picking stocks are the steps of the top-down approach in reverse order. Sales are considered the variable least likely to be manipulated. Although the basic methodologies for international stock valuation and domestic stock valuation (dividend discount model [DDM], EPS, P/E) are the same, the analyst must be aware of and consider differences in accounting practices and factor in the impact of exchange rate movements. It is also important to consider the absolute performance of foreign firms and their relative performance against local firms. 



98) C
When the CBOE put call ratio is equal to or greater than 0.50, this suggests that investors are bearish and thus contrary-opinion technicians are bullish.

The other statements are incorrect. The mutual fund ratio is not an indicator for smart money technicians. When the mutual fund ratio is equal to or greater than 0.13, it means that investors are bearish and contrary-opinion technicians are bullish. The statement beginning, “When the yield spread on high quality versus lower-quality bonds narrows,” is partially true. A narrowing yield spread is a bullish sign to smart-money technicians, but because it means that the confidence index has increased.

Summary of the indicators for contrary-opinion and smart money technicians:

        Contrary-opinion technicians (trade the opposite of the mass of general investors): 

· Mutual Fund Ratio (mutual fund cash/total mutual funds) 

· Investor credit balances in brokerage accounts 

· Investment Advisory Opinions (bearish opinions/total opinions) 

· OTC (speculative) versus  New York Stock Exchange (less speculative) volume 

· CBOE Put/Call ratio 

· Futures traders bullish on stock index futures 

        Smart-money technicians (follow the professional investors):
· Confidence index (yield on high-quality bond/yield on average-quality bonds). Note: AIMR has been know to use wording about yield spreads (which move in the opposite direction of the confidence index) to test your understanding of this indicator. 

· T-bill – Eurodollar yield spreads 

· Short Sales by Specialists (short sales by specialists / total NYSE short sales) 

· Debit (margin) balances in brokerage accounts 

 



99) C
Increased investor credit balances in brokerage accounts (indicating a bearish trend) are a bullish sign to contrary-opinion technicians. The other statements are true and are indicators used by smart-money technicians. When the yield-differential between high quality and lower-quality bonds narrows (or decreases), it indicates that the confidence index has increased and smart-money technicians are bullish. 



100) A
The weak form of the efficient market hypothesis (EMH) refutes technical trading. The tests for the weak form of the EMH indicate that after incorporating trading costs, simple trading rules cannot generate positive, consistent, abnormal returns. The other statements are true. 



101) A
To calculate the time-weighted return:

Step 1: Separate the time periods into holding periods and calculate the return over that period:
Holding period 1: P0 = $50.00

                          D1 = $5.00

                          P1 = $75.00 (from information on second stock purchase)

HPR1  = (75 – 50 + 5) / 50 = 0.60, or 60%

Holding period 2: P1 = $75.00

                          D2 = $7.50

                          P2 = $100.00

HPR2  = (100 – 75 + 7.50) / 75 = 0.433, or 43.3%.

Step 2: Use the geometric mean to calculate the return over both periods
Return = [(1 + HPR1) * (1 + HPR2)]1/2 – 1 = [(1.60) * (1.433)]1/2 – 1 = .5142, or 51.4%.


102) D

The formula for effective duration calculates the approximate change in price for a 100 basis point change. Here, we are asked to provide the approximate percentage change in the bond's price for a 10bp change. Ten basis points is 1/10th, or 0.10 of 100bp. Thus, the calculation is 0.10 * 7.50 = 0.750%.  



103) A

When a bond trades between two consecutive coupon dates, the seller is entitled to receive interest earned from the previous coupon date until the date of the sale. The price paid includes accrued interest and is referred to as the “dirty price.”
The other statements are false. The price Malooly paid covers the amount of the next coupon payment not earned by the buyer. When a security trades ex-coupon, the buyer pays the clean price, which is the quoted price without accrued interest. Accrued interest is not discounted when calculating the dirty price of a bond. 


104) D

Using the equation: Pricezerocoupon = Face Value * [ 1 / ( 1 + i/n)n*2 ]  

Here, Pricezerocoupon = 1000 * [ 1 /  (1+ 0.070/2)12*2] = 1000 * 0.43796 = 437.95, or approximately 438. So, interest = Face Value – Price = 1000 – 438 = 562.

Using the calculator: N = (12*2) = 24, I/Y = 7.00 / 2 = 3.50, FV = 1000, PMT = 0.  PV = -437.95, or approximately $438. 



105) A
Time Saving Note: You can answer this question without doing any calculations! Because the coupon reinvestment rate was greater than the original YTM, we would expect the YTM to increase. This narrows down the choices to 8.65% and 10.00%. The rate of 10.00% is an unlikely choice because the coupon payments do not comprise 100% of the return of the bond. Thus, the realized rate will be greater than 8.50%, but less than 10.00%. The only choice that meets this criterion is 8.65%.

For those of you who want to work through the calculations: We first need to calculate the FVcoupon annuity, then calculate the Total Future Value of the Bond, and finally calculate the realized return.

        Step 1:  Calculate the FVcoupon annuity
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                     Here, FVcoupon annuity = [ (1 + (0.10 / 2)4*2 )-1] / [0.10 / 2] * [(1000 * 0.057) / 2]

= [ ( 1.05)8 – 1] / 0.05 * 28.5 = 9.549 * 28.5 = $272.15

                      Alternatively, N = 8, I/Y = 5, PMT = 28.5, PV = 0, Compute FV = -272.15

         Step 2:  Calculate the Bond’s Total Future Value (TFV)
                      TFV = Face Value + FVcoupon annuity = $1,000 + $272.15 = $1,272.15. 

         Step 3:  Calculate the Realized Annual Return 
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          Here, Realized ReturnAnnualized Basis = [ (1,272.15 / 906.70)1/8 –1] * 2 = 0.08648, or           8.65%.



106) D

The “spread over the spot rates for a Treasury security similar to Mudd’s bond” refers to the Z-spread on the bond. For a callable bond, the OAS < Z-spread, so this could be a true statement because 135bp < 145 bp.

The other statements are false. The option cost is calculated using the OAS and the Z-spread, not the nominal spread. The cost of the call option should be positive. (The issuer has to compensate for increased uncertainty from the call option.) The static spread (or Z-spread) is the spread over each of the spot rates in a given Treasury term structure, not the spread over the Treasury’s YTM.

Following is a more detailed discussion: 
The option-adjusted spread (OAS) is used when a bond has embedded options.  The OAS can be thought of as the difference between the static or Z-spread and the option cost.  For the exam, remember the following relationship between the static spread (Z-spread), the OAS, and the embedded option cost:

Z Spread  - OAS = Option Cost in % terms

Remember the following option value relationships: 
· For embedded short calls (e.g. callable bonds): option value > 0 (you receive compensation for writing the option to the issuer), and the OAS < Z-spread.  In other words, you require more yield on the callable bond than for an option-free bond. 

· For embedded long puts (e.g. putable bonds): option value < 0 (i.e., you must pay for the option), and the OAS > Z-spread.  In other words, you require a lower yield on the putable bond than for an option-free bond. 



107) B

Since the bond has an embedded option, we will use the formula for effective duration. (This formula is the same as the formula for modified duration, except that the “upper price bound” is replaced by the call price.) Thus, we only need to calculate the price if the yield increases 75 basis points, or 0.75%.   

Price if yield increases 0.75%: FV = 100, I/Y =7.25 = 6.50 + 0.75, N = 12, PMT = 6.5, Compute PV = 94.12

The formula for effective 
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	Where: 
	V-
	= Call price/price ceiling

	 
	V+
	= estimated price if yield increases by a given amount, y

	 
	V0
	= initial observed bond price

	 
	y
	= change in required yield, in decimal form


Here, effective duration = (101.75 – 94.12) / (2 * 100 * 0.0075) = 7.63 / 1.5 = 5.09 years.


108) C
The call buyer has unlimited upside potential. If the stock price exceeds $39, the buyer will exercise the option and will realize all gains (once the cost of the premium is recovered).

The other statements are true. Minogue is the call writer (a covered call consists of the stock and a short call). Her gain is limited to $11 (the call premium of $5 plus the gain on the stock as long as the market price is less than the strike price, or $39 - $33). The distance between points C and D represents the call premium, or $5. Line Y represents the covered call profit line and Line X represents the stock profit line. 



109) C
If economic growth decreases, the SML will experience a downward parallel shift. Investors who supply capital demand a lower rate. 



110) A
The real Risk-Free Rate = [(1 + nominal Risk-free Rate) divided by (1 + inflation rate)] – 1. The other equations are correct. 



111) A
Even though these two investment decisions (timing and individual security selection) add value to the portfolio, the real foundation of returns comes from the original asset allocation policy decisions. Empirical studies have shown that 85 percent to 95 percent of a portfolio’s total return comes from the asset allocation policy decision (determining allowable asset classes and weighting these classes).

The other statements are correct. 



112) A
Banks have high liquidity needs and short time horizons due to the need to maintain a positive spread and the need to pay out deposits and fund loans.

Pension funds are regulated at the Federal level under ERISA and endowments are regulated at the state level. Life Insurance companies have longer time horizons than Property/Casualty Insurance Companies. (Lower liquidity needs usually translate to longer time horizons.) The liquidity and time horizon parameters for defined benefit pension plans are determined by employee age and turnover rate. These are plans where the employer promises the employee a specific income stream upon retirement. 



113) A
This statement is true. Markowitz was the first person to recognize that there are no perfectly positively correlated assets or perfectly negatively correlated assets. Thus, the efficient frontier has the shape noted above.

The other choices are incorrect. The optimal portfolio for each investor is on the highest indifference curve that is tangent to the efficient frontier. Thus, portfolios A and B are both optimal portfolios, but for different investors. In addition, any portfolio on the efficient frontier is superior to one that is not. Thus, Investor X would not be better off with Portfolio C (this portfolio is on a lower indifference curve and has more risk.) Investor X has a steep indifference curve, indicating that he is risk-averse. Flatter curves, such as those for investor Y, indicate a less risk-averse investor. 



114) D
First, calculate the correlation coefficient to check whether diversification will provide any benefit.

rBridgeport, Rockaway = covBridgeport, Rockaway / [ (Bridgeport) * (Rockaway) ] = 0.0325 / (0.13 * 0.25) = 1.00

Since the stocks are perfectly positively correlated, there are no diversification benefits and we select the stock with the lowest risk (as measured by variance or standard deviation), which is Bridgeport. 



115) A
The first part of this statement is true - the market portfolio does lie on the CML. However, the market portfolio is completely diversified and thus has no unsystematic risk. The risk that remains is market portfolio risk, or nondiversifiable, or systematic risk.

The other choices are true. The CML will “kink” if the borrowing rate and lending rate are not equal. The CML does measure standard deviation (or total risk) against returns, and this is considered a weakness since systematic, or undiversifiable, risk is what investors are compensated for undertaking. The security market line (SML) better represents this because it measures systematic, or beta, risk against expected returns. 



116) C
Note: RR = required return, ER = expected return. Remember that the SML graph plots systematic, or beta, risk versus expected return. Thus, the numbers on the x-axis represent beta. Using the Capital Asset Pricing Model (CAPM) equation, RR = Rf + (ERM – Rf) * Beta = 5.0% + (7.5%) * 0.7 = 10.25%.

Portfolio Y lies below the SML and is thus overvalued and the expected return must be less than the required return. Using the CAPM, RR = Rf + (ERM – Rf) * Beta = 5.0% + (7.5%) * 1.0 = 12.50%. (On the exam, you can quickly determine the RR for a portfolio/asset with a beta of 1.0 by adding the risk-free rate and the market premium.) Since the ER must be less than the RR, the ER must be less than 12.50% and cannot be 15.00%. Since Portfolio Z is on the SML, it is fairly valued and RR = ER. Since Portfolio X lies above the SML, it is undervalued. 



117) C
Combining the CML (risk-free rate and efficient frontier) with an investor’s indifference curve map separates out the decision to invest from what to invest in and is called the separation theorem. The investment selection process is thus simplified from stock picking to efficient portfolio construction through diversification.

The other statements are false. As an investor diversifies away the unsystematic portion of risk, the correlation between his portfolio return and that of the market approaches positive one. (Remember that the market portfolio has no unsystematic risk). The SML measures systematic risk, or beta risk. The expected return on a 0 beta security is the risk free rate (the market premium term has a value of 0). 



118) D
Arbitrage Pricing Theory is a multifactored model with few limiting assumptions. More than one risk factor is able to influence security prices.

The other statements are true. Arbitrage Pricing Theory can equal the Capital Asset Pricing Model (CAPM) if there is only one risk factor – market risk. Zero-investment arbitrage is an assumption of the APT. More specifically, zero-investment arbitrage means that if an investor buys an overpriced security, the investor has access to the short-sale money needed to buy an underpriced security. 



119) D

Waite forgot to take into account the impact of the percentage change in the dollar value of the foreign currency. 

Using the information provided by King, we can calculate the percentage change in the value of the foreign currency and then calculate Waite's total dollar return. Using the formula for total dollar return of:

R$ = { [ 1 + ($coupon + VEND - VBEG) /  VBEG ] * (1 + g) } - 1,

-0.10737 =  { [ 1 + (8.0 + 98.0 – 95.0) / 95.0 ] * (1 + FChange) } - 1

-0.10737  =  { [1.115789] * (1 + FChange) } - 1

-0.2000 = FChange, or 20.0% depreciation.

Now, we can calculate Waite’s total dollar return.

R$ Waite =  { [ 1 + (8.5 + 98.0 - 96.5) / 96.5 ] * (1 - 0.20) } - 1

R$ Waite = -11.712%


120) B
When markets are volatile, global diversification is of limited value. Studies show that correlations between markets increase as market volatility increases, which limits the benefits of diversification. In particular, studies show that correlations increase when markets are falling.

The other statements are true. Although foreign exchange risk is not considered a factor that impacts correlations, it is a significant barrier to international investing. 
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